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NOTE: - 1. ALL QUESTIONS ARE
COMPU

2. FIGURES TO THE RIGHT INDICATE FULlf l?lll::t

3. USE OF NORMAL CALCULATOR IS ALLOWED ©

4. GRAPH PAPER WILL BE PROVIDED ON REQUEST

Q.1 ATTEMPT THE FOLLOWING (ANY 4)
(20M)
1. If the market pri i
market price of a share with face value rs.100 is rs.130, how many shares of the company can be

bought for rs.3263 with brokerage being 0.4%

2. Anita i i :

di‘dden¢12;zsw?dmﬁ;572 in equity shares of rs.100 each at market price of rs.162. after receiving 11%
sold shares at rs.180 each. She paid 2% brokerage on each transaction. Find her percentage

return

3. Sukumar sold some shares at a market price of rs.120 each and paid 0.1

amount of rs.47952. find the number of shares received
ue of rs.10 each. Find his annual dividend if the

% brokerage. He received a net

4. Pratik owned 300 shares of a company with face val

company declared 12% dividend

on 2™ of every month for 5 months ina SIP of
y. The entry load was 2.22%

a mutual fund. The NAV

5. An investor invested rs. 4000
for all these month,. Find

was 33.36,28.25,35.57,38.45, and 44.32 respectivel

the average price unit
Q2 ATTEMPT THE FOLLOWING (ANY 4) (20M)
1. A Company Manufactures Bicycle And Tricycle With Help Of 2 Machines A And B.
Of 120 And 180 Hours Respectively.
Machine B.

Machines A And B Can Work Upto Maximum
e Requires 6hrs On Machine A And 3 Hrs. On
Machine B. If The Profits

Manufacturing A Bicycl
le Requires 4hrs On Machine A And 10hrs On
problem and maximize it.

Manufacturing A Tricyc
20 and for Tricyc

. Are Rs.180 For Bicycle and Rs.2 le. Formulate the

x + Y Subject To3x+Y2 30, 4x + 3y >60, X+ 2y=>40, X>0,Y>0
t02x+3y512,2x+
of the word COMPUTER can be

2. Minimize Z=2
y<8,xy20

3. maximize Z=X*Y subject
arranged such that it

ways the letter

4. in how many different
d with 2 consonant

begins with a vowel and en

Of 6 Men An
that it includes i. exa

In How Many Ways A Committee Of 5 Persons

d 4 Women.
3 men ii. At least 3 men

5. A Group Consists
ctly

s To Be Formed Such




0 Section II
3 AT !
TEMPT THE FOLLO“rlNG (ANY 4)

1.. Find .
The Median For The Following Data

CLASS INT
-_{0-10 30-40 40-50 m
FRE 10-20 20-30 .
UENCY [ 10 20 30 50 40 30

20-25 25-30 30-35 35-40 40-45 55
10 15 33 22 10 m

I Age ill years
No of

l
Lpersons | | |
3. Find the standard deviation for the following data
Ageinyears |0-10 10-20 20-30 30-40 40-50 [
No of persons | 5 8 17 7 3 |
—

4. Find the combined mean and combined standard deviation for the following data

Group I Group I ]
Number 100 , 200
mean 50 7 60
Standard deviation 2 3

5. find the quartile deviation for the following data
{

Weights in kgs 30-40 40-50 | 50-60 60-70 ﬁ.m |
No. of students 23 51 63 42 21 |

Q.4 ATTEMPT THE FOLLOWING (ANY 4) @M
tds,Find The Probablity That The Card Drawn Is An

. From A Well Shuffled Packs Of Ca
iii. Not A Diamond Card  iv.A King Of Heart

1
_A Heart Card

i.An Ace Card ii

ed
tudents 40 Passed In Economics,50 Passed In Accountancy And 30 Pes

; Of120S
2. In A Class Has i_Passed In Both

[n Both. What Is The Probablity That The Student Selected At Random
Subjects ii. Passed In Atleast 1 Subjects iii. Failed In Both Subject

¢ toss what is the probability of getting a i. exactly 3 head ii. No head

3. If 3 coins ar



©/

4

. 4. find E(X) and V(x) for the following data

MNumber | 1 2 3 4 5
[probability | 0.1 0.2 0.3 0.3 o

5.A i i
:ox. .contams 20 .tu.:k.ets numbered 1 to 20. What is the probability of getting i. an cven
pumber ii. Number divisible by 5 ii. Number divisible by 3 and 4

ATTE
Q3 MPT THE FOLLOWING (5 Marks Each) (ANY 4 FROM 5) (20M)

1. FO}‘ '1?he: .Follovt'ing Pay Off Table Decide The Best Decision Using The CRITERIA .
Maximin ii. Maximax iii.laplace Vi. Minimax Regret

Courses Of TSTATES OF NATURE ’

Actions

S1 S2 S3 S4
Al 65 45 30 85
A2 175 25 105 40
A3 90 70 75 53
Ad 60 80 40 60

2. Calculate EMV For The Following Data

CommOfAdion | (RO |

s
os |

3, Explain The Difference Between EMV And EOL

4, Draw The Decision Tree For The Following Table And Calculate The Maximum EMV

TYPE OF PRODUCT

CREAM BISCUIT

SALTY BISCUIT
PROBABILITY

5. CALCULATE EOL FOR THE FOLLOWING PAY-OFF TABLE
S1

STATES OF NATU
ACTIONS!

25

17

15
0.5




Q.P. Code :19575
[Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.
All questions are compulsory.
All questions have internal choice.
Draw neat diagrams wherever necessary.
Use of simple calculator is permitted.
Figures to the right indicate full marks.

N.B:

agkrownE

A) Select the best answer from the given options and rewrite the statement. (Any Ten) 10
) Opportunity Cost is the ------------ .

a) Price of a good or service

b) All out—of—pocket costs

c) Value of the best alternative sacrificed

d) Price that exceeds market price

i) If Kommoner’s lowers the price of its pizzas, -------------- )
a) Demand for Queen’s pizzas increases
b) Demand for Kommoner’s pizzas increases

¢) Demand for Queen’s pizzas decreases
d) Bothbandc

iii)  The supply curve illustrates how------- .
a) Quantity supplied increases as price decreases
b) Quantity supplied increases as price increases
¢) Quantity supplied increases as technology improves
d) Quantity supplied increases as resource price decreases

iv) Demand is relatively inelastic when -------------- .
a) Eq=1
b) Eq>1
c) Ea<1
d) Ea=0

V) When a 1% change in price leads to more than 1% change in quantity demanded, we
say demand iS----------------- .
a) Relatively elastic
b) Relatively inelastic
¢) Unitelastic
d) None of the above
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vi)

vii)

viii)

Xi)

xii)

Q.P. Code :19575

Delphi method is a ---------- .
a) Survey method

b) Statistical method

c) Bothaandb

d) None of the above

For Ford Motor Company, all of the following are sources of economies of scale
except ------------ .

a) Mass production techniques used in the manufacturing of autos

b) Bureaucracy and red tape encountered as the firm becomes larger

c) Learning by doing which allows workers to become more productive

d) Additional specialisation made possible by large scale production

The negative slope of the iso-quant is due to ----------- :

a) Diminishing marginal rate of technical substitution

b) Zero marginal rate of technical substitution

c) Marginal rate of technical substitution is greater than one
d) None of the above

When a firm experiences economies of scale, -----=-----=--------- :
a) The long run average cost curve slopes downward

b) The long run average cost curve is vertical

c) The long run average cost curve slopes upward

d) The long run average cost curve is horizontal

An economist would argue that accountants tend to ----------- :
a) Understate costs and overstate profits

b) Understate costs and understate profits

c) Overstate costs and understate profits

d) Overstate costs and overstate profits

Sunk cost means ------------- .

a) Cost that is recovered

b) Cost of foregone alternatives
c) Bothaandb

d) Neither anorb

Breakeven point is reached when a firm----------- .
a) Earns zero profit

b) Covers fixed cost

c) Covers variable cost

d) All of the above
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Q.P. Code :19575

B) Match the concept with its appropriate definition/explanation/description. Any Ten.

Concept Definition /Explanation /Description

)] Opportunity cost a] Cost of an additional batch

i) Graph b] Value of the best alternative sacrificed

iii) Law of supply c] Delphi method

(\%)] Perfect competition d] Price line

V) Survey method e] Initial cost of buying an asset.

vi) Promotional elasticity of demand f] Price and quantity supplied are
positively related

vii)  Iso-cost line g] Impact of change in advertising
expenditure on quantity demanded

viii)  Internal diseconomies of scale h] Benefits of joint production

iX) Economies of scope i] -~ Cost-volume profit analysis

X) Historical cost jl Horizontal demand curve

Xi) Incremental cost k] An increase in the scale of production
of the firm results in rise in cost per
unit

xii)  Breakeven analysis I] Diagrammatic representation of a
function

Q.2 Attempt Aand BOR Cand D
A) What is business economics? Discuss the relationship between economic concepts and
business decisions.

B) Given the following data. Calculate TR, AR, and MR. Explain the relationship between
a) TR and MR and b) AR and MR

Q 1 2 3 4 5
P 100 90 80 70 60
OR
C) The following table describes the market for floppy discs before pen drives were
introduced.
Price (Rs) Quantity Demanded of floppy Quantity Supplied of floppy
discs discs.
100 1500 700
200 1300 900
300 1100 1100
400 900 1300
500 700 1500
i) Plot the demand and supply curves from the table given above.

i) What is the equilibrium price and equilibrium quantity?
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Q.P. Code :19575

i) At the price of Rs. 200 what is the equilibrium quantity demanded and quantity
supplied?

Iv) When pen drives were introduced the demand for floppy discs decreased. Does
the new demand curve shift to the left or right of the original demand curve?

D) Using diagrams explain the causes of changes in demand in terms of movement along 07
and shifts in the demand curve.

Q.3 Attempt Aand BOR Cand D

A) What are the determinants of demand? 08
B) Given the following data, calculate price elasticity of demand for wheat when price 07
increases and when price decreases. State whether the demand for wheat is elastic or
inelastic.
Price of wheat Market demand for wheat
15 5000
20 4500
OR
C) What is demand forecasting? Explain the various types of demand forecasting. 08
D) Explain the least squares method of demand forecasting. 07
Q4 Attempt Aand BOR Cand D
A) What are isoquants? Explain the properties of isoquants. 08
B) Explain the law of variable proportions. 07
OR
C) Explain the least cost combination as producer’s equilibrium. 08
D) Explain external economies and diseconomies of scale. 07
Q5 Attempt Aand B OR Cand D
A) Distinguish between short run and long run costs. 08
B) Given TFC as 55 and the following data, calculate TVC, MC, AFC, AVC and AC 07
Q 1 2 3 4 5
TC 75 90 110 135 170
OR
Page 4 of 11
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Q.P. Code :19575

C) Derive the LAC curve using the short run average cost curves of a firm. Why is it called
a planning curve?

D) What is the learning curve? Explain with a diagram.

Q.6 Attempt A and B OR Write short notes on any four.

A) Explain changes in equilibrium due to:
a) Changes in demand and
b) Changes in supply

B) What is the breakeven point? Using diagrams explain how the breakeven point changes
when there are changes in price and variable cost.

OR

Q.6 Write Short Notes. Any Four

i) Functions and equations

i) Steps of demand forecasting

iii) Types of isoquants

Iv) Internal economies of scale

V) Fixed and variable cost

vi) Limitations of breakeven analysis

*khkhkhkhhhhkhkkhkhiikikikx
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Q.P. Code :19575
[aa‘: o ae ]

Please check whether you have got the right question paper.
=T %) T T AT AT
R) Td FEHT I T 3T,
3) TR T GoIeh HTHAT HIal,
%) HTEAT 10T AT STIX HUATE T 3T,
Y) ISTeftehgiet e quf 10T SifordTal.

w.e  foican Ty A ST fHae e aral IeT forel. (SRIvTdET 38T

a) I&q fehal ga=ht fehra

b) a1 Rawrdia @

¢) TN hoiedT el JaTe Hed
d) TSI fohmeht v 3iferes fehma

2) o8l ML AT Uga=i fohua shHft Sal--oeamemmmne .
a) =T fugE=T arTof aed
b) =TT Uz AW arEd
c) FT AT Uz AFTf Ted
d) &Il b AT0T ¢ g

3) ST a5k forsdwur el i
a) ohHd ST YLEAT= HET e
b) oA e AT YA dTed

¢) AT YR HTeA LS T e
d) 3cUTE i1 fhHdl Heea agar= € ared

AR I R P R [ o - NG R [ [ [ — ,
a) Ed=I
b) Ed>1
c) Ed<1
d) Ed=0
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Q.P. Code :19575

Y) SteaT fehmdiefier % % TaTHes HITUfi=T qRETOTT % Sae Sral degt STTIvT HRTOfeT 318 Hererar
a) SAfRIF AaraH
b) 3ferek At
c) Ueheh AdT<h
d) SeTieht et

&) STh! 95T (Delphi method) TR T ---mmmmmmmmmoee .
a) TN TG
b) HEARIET 9gd
c) e a ST b
d) SOerieht et

\9) WIS AT Shu=TET3T WiciIeTdeh! T THTUM=AT Sl &d 3AT8d (3181 (IUATE)----mmm---
a) TTSAT=AT SCUTETETS! SIS TeteT SeATeATe 3THeh o
b) ST HIGAT JHIUITT ATETAT HIhRITE! STV TEE IV HHET IEHaeAT
c) SHIFTRIE SCATGshdl STHAT 1ehedT dTed
d) TR forerfieRTom g JaTodier Scdte TR 3Tt

C) HHI[ad denl<l Hienld SdLdl HHA] V] -=————- e ¢
a) MRTS = oed @&
b) MRTS = I T&&Y
¢) MRTS & THIIET A1
d) et AT

])  oRT SEATEH Ut THTUTT=AT STl STHA, —-memmemem ,
a) eI TLERl T o5k Satd 3T
b) SeihreliT TEd e I3k 39T T 3T
¢) STl TER @ I3k A HATHRET STl
d) SelepreflT TeRt @ a3k ferdisr aHiat stEar

%0) THTET HURITET HeTHG 5h hict ohl A GATHD —--memmmemmmemn .
a) TTHRITCAT AT JATIOT TieAT ST it SIS
b) T ST T STENHT ST it ST1se
c) Tt 3Aferh STV THITeT FHY it SIS
d) @ ST 6T ST AT e A5
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d) afe T smfor b & T

§3) ICATE T B Tofg STH T SFERT - _
a) [ THT FHHAA
b) TR T W& wred

¢) SEAdT T WE FHled

d) et ad

B)HeReIHT SATIOT =T RATH AT / fosuT / i [T, (ShT0Td et 28T )

TR e / fasgwor / avia
%) "t @ a) IATereF=aT GHE / T @
Q) AT (ITH) b) WA TR AN Hed
3) agamE tEm ¢) ST USd (Delphi method)
%) qof Tt d) fehwd T
Y) FEEI0 IEd e) HICTHHT et heT= GLalTdi= &=
&) ATTUf=f Y ataehdr f) fehHa SATIOT qRaraT aimToT ArHeler eTenes Hey
o) FH-TH {7 g) STEAId G iaeIae AeATHos HITUM=AT qiCAToTd
AT &
¢) THTUTAT SAid serret h) HIh ICATEHTS B
R) JHTUTT=AT Sl S TIehdT i) G- T uTdest farsgwor
) RUGHITERCES i) ferdist Twiar grToft orsh
%3) AT T (FshHed I ) k) SCATEHT=AT JHTUIA aT€ e Ifd 777 @l gieteft
e
§ Q) T foig fersemor 1) STTeRd=AT RN %ol h v,
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g3 A 3 B fekar ¢ =1t D . 3 el s forer.
A) STFHTI ST FEUS 1?2 IATTeh HehodaT SATVT sFawies ot araefier deiemer ==t . ¢
B) WTefier ATfeci=at ST TR, AR HTM0T MR = 70T 1. qEleiteh! ariefier deie fawa . 9
a) TR 31T MR, 2ATfor

b) AR ATT MR
Q 1 2 3 4 5
P 100 90 80 70 60
C) T qeheaTHEd U STgeg =T ST FeA Tl TStk =T TSI ovi shel 37T, ¢
fhId (Rs.) AT =T HETOR= ST | FeAidTeaT LA St

100 1500 700

200 1300 900

300 1100 1100

400 900 1300

500 700 1500

%) It qehcTare] HRTON SATOT STl <Ish el
R) WOl fehAd ST Hoeict AUl SATIOT qrargarsh S fordt 3A1e?
3) TEGEAT 00 &, Tohwee AR SO qagaT=l HeAT fohrd 311?
¥) SISgT SITSTRIA U gT5e8 ST FeiTdl [Seah =i arTofi<l afRHTor shel SiTe. ATHeS Hed HRTf
ICHTOT ST FATC. ATHob Hed HRTUN oI5k STEAT fohdl SSTeaT SITS[eAT Elehat?
D) TR I & TR FehTel TIATILOT STTT Ueht=l ATl Fshrariel ATTUfi= grerenet offor
T W fova
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¥.3 A 3fr B fekar ¢ ifor D am werih 3 forr,
A) i it w2 v 3TRd?

Q.P. Code :19575

B) fecrea mfdiear et Sisgt fohma ared 3T srea qegt Tear=an HTft=lt dafushar Hs. T8
A 61 TeRTETE] AT SAeIf<reh T8 ohl Teraf=ren,

TTegT= T TSETETST TSI HITOfT
15 5000
20 4500
ferar

C) TmTUiET AfesashTel SeTsT U Sh1a? ANTUi=ar Wiasreheis iersir fafae yen fose o,
D) HTTufi=aT wiersTehteti= et fohuT ot uga (fore T Ugd) fome =,

T A T B feham € amfor D 3 gei=ht 3 foe.

A) HHSTE T3k FEUIS! hI? HHSCATE Sohrell ATy forg o .

B) SEetcaT JHTOTET fam fawe &,

feRam

C) ScATEHT=AT ST oA Gl HANT forva .

D) JHTUTT=AT SITeT st SATOT srarereft forsg .

T4 A 3 B fekar € smfor D I g S foe.

A) TR AT Selehred wataefier vk T8 .

B) SR TFC = 55 3101 @refiel Hifad! aeidd! 319d™T, TVC. MC, AFC, AVC 3TTf0T AC TS,

Q 1 2 3 4 5
TC 75 90 110 135 170
fRar

o ¢

C) U= ATHTA T GERT T FehTaT SUINT S fqEehTe= Tt sk (LAC) i@t . 3T Tshlel

TSI =5k 7 FEOTdTd?

D) 3TE T5h FeUIS 2 SAThd e foI9g &,
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Q.P. Code :19575

7§ A ST B AT Tt S ferer feha st wmer fout forer .
A. ST Sed o978 3, (a) ARTOMIE S&et SO (b) et Seat.
B. | feig FEUTSl h1er? STl =T ST o fore 1 foh Sisgt fefhma 3101 sreetedr @reid seed

fehar

feur forer: (uTeTE 9w

i) e SATOT TR

i) AmTofeaT Wit e T

iii) 9 ScdTe Ishi ThR

1v) JHTOT=AT AT ST

v) T nfor seerar @<

vi) gafeig fersgomm=ar e,

sk sfeosk sk sfe sk sk sk ke skeosk sk skoskok sk
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Q.P. Code :23124

[Time: 3 Hours] [ Marks:100]

Please check whether you have got the right question paper.
N.B: All questions carry equal marks and are compulsory
Draw neat maps, sketches and diagrams wherever necessary
Use of map stencil is allowed.
Attach Appendix -l (outline map of world) to your answer paper.

PwNPR

Q1. A) Study the following thematic map of the world and answer the questions.

PP | [ T3 TR [ e I L 01 Z—1 g ﬁl('y-'
150° L e es B S o [ T o 90°% (% §
GO S Sk b o . A ) D
Py (e o L7 g e

e . klv/;:’\' Q;:\f" N ] {Z { i"{f'::rl:t" Ared r'!"’—‘:' "
——\,.‘-s«»-»ub_;‘ /_// v \i
L ~ g »,
! o A o
,_Lj (7 ™ -fvv ,'f\,""’ B
i \ "\.'i |;
e—d 4
; T
PACIFIC | PACIFIC
OCEAN  \_ OCEAN
H ,  ATLANTIC i
w5, OCEAN
B I RIS T2, 4 V.’.,/’w\- g .dT' -
'_,1,~'~_/\ /‘ U Ve Av.
-_.,/ 10‘» “.
e e (i
H I/ & POPULATION DENSITY |__~~f
ﬁ,"c B More than 200 ~ g
[ | ! I' {’ WORLD I 51 -200 &
\ ‘U - DENSITY OF POPULATION =] 11-50
R E=11<10 |
A —

255 =

60" o 2000 6000 K

> L) lessthan1 |
— — - 4
90° 0 %0° - 180° |
I I I I | I L 1 I | |

i) What is the theme of the map? Name the cartographic technique used to represent the
theme.

ii) ~ Name any two countries from Asian continent having more than 200 density of population.

iii) = Name the continent having least density of population. Give reason.

iv) ~ Compare the population density of U.K with Canada.

v)  Briefly describe the distribution of population density in Northern Hemisphere.
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Q1.

Q2.

Q3.

Q4.

Q5.

A)
B)

C)

D)
A)

B)
C)

D)

A)
B)

)

D)

Q.P. Code :23124

Mark and name the following on the outline map of the world given to you. (Appendix-I)
Madagascar Island

Bay of Bengal

Major mountain range located in North America

Area of coniferous forests in Asia

Any one area of oil field in India

Any one country having low population growth from Africa

Any one country having low human development index from Asia
Any one million city located in Japan

Any one area of desert in the world

Any one area affected by acid rain in the world

Explain with examples various biotic or living components of the environment.
Write the meaning of term ecosystem. Explain the components and characteristics of forest
ecosystem.

OR

Discuss with diagram the energy transfer in ecosystem.

Discuss with examples the impact of human activities on environment.
Distinguish between renewable and non-renewable resources.

What are the different measures of coal and oil conservation?
OR
Evaluate the role of forest in governing climate and biodiversity of a region.

Write notes on: (i) Water conservation and management
(ii) Importance of solar energy

Comment on the factors influencing the growth of population.
Discuss the different stages of population changes mentioned in ‘Demographic Transition
Theory’.
OR
Write a note on over population and associated environmental problems.

What are the different criteria to measure the Human Development Index (HDI)?

What is urbanization? Explain the processes of urbanization in India.
Define migration. What are the different effects of migration?
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C)
D)

Q.P. Code :23124

OR
Discuss the impact of urbanization on climate and biodiversity.
Write notes on-(i) Urban Heat Island
(ii) Parameters of Smart Cities

3k 3k 3k ok 3k 3k 3k 3k %k 3k %k %k %k %k k
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Q.P. Code :23124

Please check whether you have got the right question paper.

N.B: Y YA AISTACT HiAG e HallelT HATA T[0T e

ELTF Y AR, RIS 0T AT Fier.

AR Tl ATRUATH AT 3Te.

TEHTATSY S SIS TRAUTAHT TgTdr.

TRIRISS-1 (ST STETRSTRT A1) ek IEeher S

LA S O

)mmmﬁwmammwmmmﬂiﬁm

i) a%raninﬁwﬁm?n m?:nﬂ%;ﬁ a@a'wran?r;mﬁ amma‘:rw

[ 15 180
:‘ / " c;'u.f T
T 7 \ ("F 1 3 "*| T
~ N\ ) ‘-A ‘-' 23 |
f A S |
. S oaS N\ o SV
\ r‘-‘r\_“ i3 4 ¢ T - ‘.-(,ra
"';1‘,_. ’\‘f‘ \ Qﬂ\ ™ Y
N 1§ \
°\ B SRR (3
T‘ k¥ 20 ;‘ "w "
PACIFIC | .‘Q PACIFIC
OCEAN  \_ y OCEAN
| Ny, ATLANTIC
A= OCEAN ¢ :
N SOy s [RESREES
N o~ ’ =]
Ll ame e s TR eaf AL : : oL
| U .‘/ y _J)\: % g — g e
(= ] . ) \ . < INDIAN OCEAN S ST,
"\ N { 0 | ) AN £ .
RS . Y ] - L\ v ¥
i I/ 4e \\‘ﬁ POPULATION DENSITY |~ J =
N/ = — i S ™
. ['{','c] I More than 200 9 A
fil' % WORLD I 51 - 200
&L « DENSITY OF POPULATION =1 11-50
. e J1-10 ,
607 o 2000 6000 Km ~ ;j:j}ess thanﬁ? . vl
I 0 90" 180° }
- T —r e T T — T - |

Sl UeT 3T NhTEA gaddr 3ToeAT RAAT ST gl M A1 Hiaw.

i) gaTta HHT NHIRAN GaTdT TIeIT TSR ATd folgl I FHRUT .
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iii)
iv)
v)

vi)

Q.P. Code :23124

e Mt ARdW<IT gaa<ar Ao AMsaara guTe .
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C0141/C0532 ACCOUNTANCY & FINANCIAL MANAGEMENT PAPERI

Q. P. Code : 23652

(3 Hours) (Total Marks: 100
All questions are compulsory.
Q.1 and Q.6 carry 20 marks each.
Q.2,Q.3, Q.4 and Q.5 carry 15 marks each.
Use of simple calculator is allowed.

(A) Choose the correct options from the bracket and rewrite complete sentences. (10)
(Any 10) :

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

______item of inventory is excluded from the scope of Accounting Standard-2.
(Finished Goods/ Goods for Resale/ Spare parts)

Payment of loan is a Expenditure.

(Capital/ Revenue/ Deferred Revenue)

Dividend is a reward received from investment in

(Gold/ Shares/ Real Estate)

Outstanding Expenses are recorded on the

(Debit side of P&L Account/ Asset Side of Balance Sheet/ Liability side of
Balance sheet)

In Departmental Accounts, is debited to General Profit & Loss
Account. (Salaries / Rent / Interest on loan)
The title to goods sold on Hire Purchase passes on payment of

(Down payment / First instalment / Last instalment)
Under Perpetual Inventory System, Closing stock may be ascertained from
quantity details recorded on . ( Bin Card/ Stock Ledger/ Sales Ledger)
Depreciation on the Asset taken on Hire Purchase is calculated on
(Full Cash price/ Hire purchase price/ Instalments paid)
factor should be considered while selecting and applying an

accounting policy. (Dual Aspect/ Prudence/ Consistency)
Stock reserve is closing stock in the Balance Sheet under Departmental
Accounts. (Added to / Deducted from / Not adjusted in)
Inventories are generally valued at
(Cost/ Net Realisable Value/ Lower of Cost or Net realizable Value)

is the total amount payable by the hirer which is made up of cash price
of the asset plus interest. (Hire purchase price / Down Payment/ Instalment)

TURN OVER
EDS5FFEDBF4301E749ECBB87DE7051EE



C0141/C0532 ACCOUNTANCY & FINANCIAL MANAGEMENT PAPERI

Q. P. Code : 23652
2

(B) State whether the following statements are TRUE or FALSE and rewrite the same. (10)
(Any 10) :
1) Disclosure of Accounting Policy cannot be a remedy for a wrong or improper
accounting policy.
2)  Hire vendor has a right to terminate the hire purchase agreement for non-
payment of any installment.
3)  Wages paid to a carpenter for making furniture is a Revenue Expenditure.
4)  Revenue from Interest is recognized only when it is actually received.
5)  Weighted Average Method of stock valuation is not recognised by AS- 2.
6) Reserve for Doubtful Debts is deducted from Creditors in the Balance Sheet.
7)  Departmental Profit and Loss Account are useful to managers for evaluating
the performance of each department.
8)  Under FIFO method, Closing Stock is calculated at the latest Purchase Cost.
9)  Over valuation of Inventory leads to higher profits and larger current assets.
10)  Asper AS-1 if in a year method of charging depreciation is changed it need
not be disclosed.
11)  Hire Purchase is an agreement between the vendor and the agent.
12)  Fixed Assets are stated at their Historical Cost less depreciation in the
Balance Sheet.

From the following Trial Balance as on 31% March 2017 of Mr. Gaurihar, Prepare (15)
Manufacturing Account, Trading Account and Profit and Loss Account for the year ended
31 March, 2017 and Balance Sheet as on that date :

Trial Balance as on 315 March, 2017

Particulars Dr. (%) Cr. (%)
Machinery 1,00,000
Sales 3,28,000
Opening Stock - Raw Material 16,000
Opening Stock - Work in Progress 3,000
Opening Stock - Finished Goods 11,000
Production Royalty 10,000
Factory Rent 12,000
Factory Power and Fuel 13,000
Office Salaries 25,000
Office Expenses 29,000

TURN OVER
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3
Direct Wages 58,000
Purchase of raw materials 1,23,000
Cash at Bank 4,000
Advertisement 18,000
Interest 8,000
Discount Allowed 6,000
Creditors 30,000
Bad Debts 4,000
Provisions for Bad Debts 2,000
Sundry Debtors 55,000
Bills Payable 10,000
Capital 1,40,000
Drawings 15,000
Total 5,10,000 5,10,000

Following future information is provided to you :
1. Closing stock as on 31% March, 2017 was Raw material £18,000, Work-in-progress
¥7,000, Finished goods £13,000.

2. Depreciate Machinery @5% p.a.

3. During the year finished goods were withdrawn by proprietor costing 8,000 for

personal use.
4. Provide reserve for

doubtful debts @ 10% on debtors.

5. Outstanding advertisement expense is £2,000.

OR

2. From the following Trial Balance as on 31% March, 2017 of Mr. Kailash Prepare (15)

Manufacturing Account, Trading Account and Profit and Loss account for the year ended 31st
March, 2017 and Balance Sheet as on that date :
Trial Balance as on 31st March, 2017

EDS5FFEDBF4301E749ECBB87DE7051EE

Particulars Dr. (%) Cr.(3)
Purchase of Raw Material 3,15,000
Sales 5,00,000
Computer 32,000
Opening Stock — Raw Material 32,000
Opening Stock — Work-in-progress 6,000
Opening Stock — Finished Goods 20,000
Capital 1,05,000
TURN OVER
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4
Freight on Raw Material 3,000
Direct Wages 24,000
Factory Rent 20,000
Factory Power and Fuel 18,000
Factory Electricity 21,000
Machinery 95,000
Drawing 15,000
Office Salaries 23,000
Cash at Bank 5,000
Selling and Distribution Expenses 13,000
Bank Charges 7,000
Discount Allowed 5,000
Creditors 45,000
Bad Debts 2,000
Provisions for Bad Debts 2,000
Sundry Debtors 49,000
Bills Payable 46,000
Discount received 10,000
Sundry expenses 3,000
Total 7,08,000 7,08,000

Following further information is provided to you :
1. Closing stock as on 31% March, 2017 was Raw material £16,000, Work-in-progress

10,000 Finished goods %28,000.

2. Outstanding Factory Rent is 21,000.

3. Depreciate Machinery @ 5% p.a. and Computer @ 20% p.a.

4. Debtors include 215,000 due from Amir an amount of 8,000 is also due to him
which is included in creditors, which needs to be adjusted.

5. Provide Reserve for doubtful debts @ 10% on debtors.

3. Samrat Enterprises is a Departmental Store having three departments A, B and C. The (15)
information about three departments for the year ended 31 March, 2017 are given below :

Particulars Dept A(Z) | DeptB (%) | DeptC ()
Opening stock 72,000 48,000 40,000
Purchases 2,64,000 1,76,000 88,000
Sales 3,60,000 2,70,000 1,80,000
Closing stock 90,000 35,000 42,000
Floor space occupied [Square feet] 3,000 2,500 2,000
No. of employees 25 20 15

TURN OVER
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5

Balance of other revenue items and their basis of allocation is as follows :

Particulars T Basis
Carriage Inward 6,000 Purchases
Carriage Outward 4,500 Sales
Salaries 81,000 No. of employees
Advertisement 5,400 Sales
Discount allowed 2,250 Sales
Discount received 1,800 Purchases
Rent, rates and taxes 7,500 Floor space occupied
Depreciation on Furniture 1,500 Equal

Prepare Departmental Trading and Profit and loss account for the year ended 31 March, 2017.
OR

EDS5FFEDBF4301E749ECBB87DE7051EE

3. Prepare Departmental Trading and Profit and Loss Account and General Profit and Loss (15)
Account of M/s Surekha from the following particulars for the year ending 31% March, 2017 :
Particulars Dept. A(%) | Dept. B (%) | Dept. C (%) Total (%)
Purchases 90,000 60,000 30,000
Sales 1,60,000 1,28,000 64,000
Wages 30,000 24,000 20,000
Closing stock 44,000 32,000 28,000
Salaries 13,000 7,000 9,000
Rent 7,000
Insurance 4,700
Motor Van Expenses 4,400
Advertising 6,600
Travelling Expenses 3,300
Carriage inwards 12,000
Discount received 3,600
Bad Debts 1,100
Discount allowed 2,200
Additional Information :
1. There was no opening stock
2. The floor space occupied by the three departments A, B and C is in the ratio of 3:2:2.
3. The Motor Van Expenses are to be divided equally between departments B and C.
4. The insurance premium is on a comprehensive policy and cannot be allocated
Mr Murugan purchased a Machinery from Rallys Ltd. on hire purchase system on 1% April (15)
2014. The cash price of the machine was ¥9,00,000. An initial payment of £3,00,000 was
made on the date of purchase. The balance was paid in Three annual instalments of  2,00,000
plus interest @ 15% p.a. on outstanding principal amount. Depreciation is charged @ 10% p.a.
on written down value.
TURN OVER
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Mr Murugan closes its books on 315 March every year. You are requested to draw Machinery
Account, Rallys Ltd. Account and Interest Account in the books of Mr Murugan for the year,
2014-15, 2015-16 and 2016-17 using Full Cash Price Method.
OR

State with reasons whether the following expenses or incomes are Capital or Revenue. (15)
(First sub- question carries 3 Marks and remaining carry 2 marks each) :

1. A dealer in timber acquired wood worth ¥3,00,000 and made furniture out of it at a
total cost of ¥3,75,000 and sold it to a customer for 4,50,000.
A plant worth £7,00,000 is bought by proprietor for business activities.
Incurred £1,00,000 on research of a new product, which did not materialize
Repairs to the roof of the building £1,00,000 for protection against rains

Carriage and freight paid for bringing machinery 12,000 to be used in factory.

o 0k~ N

Payment of legal fees to advocate for preparation of Purchase Agreement of Land
and Building 20,000.

7. Wages paid to workers 10,500 for erection of new machinery in own plant

From the following information of M/s. ABC and M/s. XYZ, value closing stock on 31 (15)
March, 2017 as per the methods mentioned below :

a) By FIFO Method for M/s. "ABC”

b) By Weighted Average Method for M/s. " XYZ "

Particulars M/s. ABC M/s. XYZ
Opening Stock (kgs) on 01.03.2017. 2000 @ =20 2000 @ =10
Purchases (kgs)
(i) On 11.03.2017 1800 @ =22 1000 @ =20
(i) On 21.03.2017 1700 @ ¥24 2000 @ %22
Sales (kgs)
(i) On06.03.2017 1,300 1,000
(i) On 15.03.2017 1,500 1,200
(i) On 18.03.2017 600 800
(iv) On 29.03.2017 1,100 1,700

OR

TURN OVER
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7
Following is the record of transactions regarding purchase and sales of Mr. Ram : (15)
Date Particulars Units Rate per unitin ¥
01.03.2017 | Opening Balance 1500 50
06.03.2017 | Purchases 2000 60
12.03.2017 | Sales 2500 80
15.03.2017 | Purchases 1500 65
21.03.2017 | Sales 2000 90
25.03.2017 | Purchases 1800 70
28.03.2017 | Sales 1000 95
29.03.2017 | Sales 500 100
30.03.2017 | Purchases 1200 80
Find the following from the above :
a) Value of Stock using FIFO Method as on 31% March, 2017.
b) Cost of Goods Sold for the month of March, 2017.
c) Sales and Gross Profit for the month of March, 2017.
Answer the following :
1)  Explain the Provisions of AS-9 : Revenue Recognition. (10)

2)  Explain in brief the main Features of Accounting for Hire Purchase and contents (10)

of the Hire Purchases Agreement.

Write short notes on any four of the following :
Manufacturing Account.

a)
b)
c)
d)
e)
f)

(20)

General Profit and Loss Account, as prepared in Departmental Accounts.

Periodic Inventory System.

Importance of Accounting Standards.

Inter departmental Transfer

Capital Expenditure and Revenue Expenditure.

EDS5FFEDBF4301E749ECBB87DE7051EE
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Q.1

Q.2

a)
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a)
b)
c)
d)
e)

Q.P. Code :19379

[Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.
N.B: 1. All question are compulsory.

Explain the following terms in 2-3 sentences: (any five) 10
Twitter
Non - Verbal communication
Jargon
Self-image
Feedback
Horizontal communication
Silence
Grapevine
Match the following: 05
A B
1. Signature a. Ethics
2. Proxemics b. Upward communication
3. Suggestion c. Encoding
4. Sender d. Obligatory part
5. Personal integrity e. Study of space
Fill in the blanks choosing the best alternative from the ones given below. 05

is an e-learning tool.
a) Whats App b) Facebook c)Moodle d) Blog
is an optional part of business letters.
a) Date b) Inside address c) Letter head d) Identification initials
Resistance to change is a barrier to communication.
a) Physical b) Psychological c) Semantic d) Cross- Cultural
Communication takes place across the organizational hierarchy.
a) Upward b) Downward c) Diagonal d) Horizontal
The Latin term is the source for the English word communication.
a) Communis b) Communist ¢) Communal d) Community

Write short notes on (Any Four) 20
Downward Communication

Body language

Advantages of written communication

Communication process

Visual communication

Social Media

Page 1 of 5
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Q.3

Q.5

i)
ii)

Q.P. Code :19379

Answer any two of the following: 20
What are language barriers to communication? Suggest ways of overcoming them.

Define listening. Discuss the different types of listening.

Explain corporate social responsibility. How does an organization practice CSR.

Draft a reply in response to the following advertisement. 10
“Urgently required junior accounts executive for Star Mall, Mumbai. Candidates should

be commerce graduates, familiar with the use of Tally. Candidates meeting the
requirements should send in an application along with the resume within ten days to -

Box No - 1236, The Times of India, Mumbai.”

Draft the following letters : (Any Four) 20
You wish to take admission for a postgraduate course in Business Administration from a
Canadian University. Draft the Statement of Purpose.

Draft a letter of recommendation for your Junior who is applying for the post of senior
sales officer at Tata Textiles.

You had received an offer for the position of an administrative officer in a private
company. Draft your reply accepting the offer.

Mr. Ramesh Shah plans to relocate to Pune for personal reasons. Draft his letter of
resignation.

Mr. Naresh Singh of the Accounts department has worked overtime and achieved his
sales target. Draft a letter appreciating him.

Write a paragraph in about 150 words (any one) 05
Green Environment

My Ambition

Read the following situation carefully and answer the question given below: 05

Ms. Vidya Sinha is a dedicated senior manager at TESCO Software Pvt Ltd. She has to her
credit twenty five years of service and is very loyal to the organization. She has fixed ideas
of getting work done. In her enthusiasm, she constantly conveys work related orders and
instructions to her subordinates. Her subordinates respect her sincerely but dislike her
constant interference. This has resulted in many young employees resigning from the
organization.

[dentify and explain the problem in the given situation. 03
Discuss the means to overcome the problem faced by the employees. 02
3k 3k 3k sk 3k sk 3k sk 3k sk ok sk sk ksk ok sk
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Q.P. Code :19379
[§2: i am] [TT:%00]

Please check whether you have got the right question paper.
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. & 37) SUSHEY QIS 3. oY

1) Green Environment
i1) My Ambition

o) Read the following situation carefully and answer the question given below: o4
Ms. Vidya Sinha is a dedicated senior Manager at TESCO Software Pvt Ltd. She has to her
credits twenty five years of service and is very layout to the organization. She has fixed ideas
of getting work done. In her enthusiasm. She constantly conveys work related orders and
instruction to her subordinates. Her subordinates respect her sincerely but dislike her constant

interference. This has resulted in many young employees resigning from the organization.

1. Identify and explain the problem in the given situation. 03

2. Discuss the means to overcome the problem faced by the employees oR

3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 5k 3k 3k k 3k ok 5k 3k 3k %k %k %k 3k 5k 3k %k %k %k 5k %k sk k k ok
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(A)

10.

11.

12.
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Q.P. Code : 00351
[Time: Three Hours] [Marks:100]

Please check whether you have got the right question paper.

N.B: 1. All questions are compulsory.
Fill in the blanks (Any ten) (10)
Businessis a activity.
(a) Organised (b) Social (c) profit-making
Creation of wealth is one objective of business.
(a) Social (b) Economic (c) Political
Global business leads to
(a) Independent countries (b) Inter-dependence of countries - (c) Free countries
Turnaround is a strategy.
(a) Medium term (b) Short term (c) Long term
Society is one factor affecting environment.
(a) macro (b) Micro (c) Economic
is a trading block consisting of south Asian countries.
(a) EU (b) SAARC (c) ASEAN
Project report is used as by an entrepreneur.
(a) Bank document (b) Communication proof (c) Project planning tool
Feasibility studies business potentially.
(a) Calculation (b) Estimate (c) Forecasts
Companies intimate DIN to .
(a) ROC (b) CCl (c) Government
An entrepreneur business idea.
(a) Reject (b) Debates (c) Conceives
designs service for SSlI’s.
(a) TCO (b) NSIC (c) NIESBUD.
Women entrepreneur are of the family.
(a) Dependents (b) Outside (c) Anchor
State True or False (Any Ten) (10)

Creation of employment opportunities is one function of business.

Business firms have social responsibility only towards employees.

Importance of public sector increased under liberalization.

Tertiary industry provides intangible goods.

Business objectives are the ends towards which the activities of an organization are aimed.
Downsizing refers to retrenchment of surplus manpower of the business.

Cultural environment does not influence demand for goods and services.

GATS is an agreement of WTO.

Feasibility study of a project refers to finding out the practical utility or the future prospects of a project.
Provident fund registration is not compulsory if the size of workforce is 20 or more.

Entrepreneurship is an economic activity.

Indian institute of entrepreneur (lIE) has a special focus for entrepreneurship development in northen
regions.
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Q.2

Q.3

Q4

Q.4

Q.5

Q.5

Q.6

Q.6

(a)
(b)

(a)
(b)

(a)
(b)

(a)
(b)
(a)

(b)

(a)
(b)
(a)
(b)

(a)

(b)

(a)
(b)

Q.P. Code : 00351

Discuss in brief the classification of business objectives.

Distinguish between economic and social objectives
OR

Discuss the impact of liberalization on business and economy.

Explain the scope of business
Why is it important to analyze business environment?

Explain the components of internal environment.

OR
Explain the various functions of WTO

What is educational environment? Explain its impact on business
What is business planning? Explain the steps in business planning process.

Distinguish between project report and feasibility report.

OR
Describe the procedure of licensing and registration of a business unit.

Explain the stages involved in business unit promotion.

How is an entrepreneur different from an intrapreneur?

Explain the importance of entrepreneurship.

OR

Discuss the various promotional incentives offered to women entrepreneurs.

Explain the factors contributing to the growth of entrepreneurship.

Explain how economic and social objectives can be reconciled

Define entrepreneurship. Explain the characteristics of entrepreneurship.

OR
Write short notes on (any FOUR):
(a) Major trading blocks.
(b) Importance of business.
(c) Pre-feasibility study.
(d) Types of entrepreneurs.
(e) Implications of WTO on Indian business.
(f). Entrepreneurship training centers in India.

2A16B7BF2EFCEAFF7D111F48CB14BCD9
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(08)
(07)

(08)
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(08)
(07)
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(07)
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Q.P. Code : 00351
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Please check whether you have got the right question paper.
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Q.P. Code : 00351

g% o SO A fergr.(Froraer 2gn)
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C0141/ C0537 FOUNDATION COURSE |

Q. P. Code:-24691

NB: (1) All questions are compulsory Total marks: 75
(2) Figures to the right indicate full marks Time: 2 %2 hours
1(A) Choose the correct alternative (any 8) (08)

1. The Indian languages belong to --- language families.

(3,2, 4)

2. Scheduled castes are not found in ------ ;

(Punjab, Mizoram. Uttar Pradesh)

3. The Indian Constitution makes provision for positive discrimination via Art ------- .

(15, 14, 17)

4. One of the characteristics of urban centres is all places with a population of at least --

5.

——-. (12000, 5000, 4000)

Gender is a ----- concept. (Sociological, Economic, Biological)

6. Mongoloids, Negritoes and Austroloids are examples of Indian ---- groups.
(Rural, Tribal, Linguistic)
7. There are -------- schedules in the Indian Constitution.

(12, 13, 14)

8. Indiaisa ----- of states.

(Union, Federation, Confederation)

9. Indiahas a ----- Party System.

(Multi, Dual, Single)

10. The 73" amendment to the Indian Constitution regarding Panchayati Raj was passed

(1990, 1991, 1992)

(B) State whether the following statements are true or false. (Any 7) (07)

SRS N e A

English is the secondary official language of the Indian Union.

A Secular State is that in which religions are treated unequally.

Sikhism is a monotheistic religion.

The sex ratio in India has always remained unfavourable to women.

Each tribal group of India has a language of its own.

Children’s education is every parent’s Fundamental Duty according to Indian
Constitution.

Caste is an endogamous group in the Indian society.

The Indian Constitution is a completely original work of the Constituent
Assembly.

There are 10 Fundamental Duties enshrined in the Indian Constitution.

. The Shiromani Akali Dal and the Asom Gan Parishad are examples of regional

parties in India.

Page 10f4
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2 a. Clarify the term violence against women and comment on the various
manifestations of violence against them in contemporary India. (15)

OR
2 b. Explain the manifold problems faced by the disabled in the country.

3 a. Examine the various causes of regionalism in India with suitable examples. (15)

OR
3 b. Explain the term Caste. What are the inequalities caused by the Caste system in India?

4 a. Examine the importance of the Fundamental Duties in the Indian Constitution . (15)

OR
4 b. Explain the following features of the Constitution
a. Fundamental Rights
b. Federal System
c. Independence of the Judiciary

5. a Explain the various socio-economic and cultural obstacles in the effective participation
of women in Indian politics.

OR
5. b Write short notes on any three. (15)

Any two aspects of diversity in the Indian culture
The rural urban divide in India

Shortcomings of the party system in India.

Major features of the 74™ amendment
Representation of women by the Indian media

> o0 T w
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Eaaiadier AR dea9Tear YehRiax feeaufl . (29)

fohar
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[Time: 3 Hours] [ Marks:100]

Please check whether you have got the right question paper.

N.B: All questions are compulsory.
Figures to the right indicates marks allotted.
Graph papers will be provided on request.

Use of simple non-programmable calculator is allowed.

B W=

Section -1

Q.1 Attempt Any Four from the following:

Q.2

A)

B)

C)

D)

E)

If the market price of a share with face value Rs.100 is Rs.130, how many shares of the company [05]
can be bought for Rs.3263 , brokerage being 0.4%.

Smooth Writing Industry issued some shares of face value Rs.10 each. A dividend of Rs. 7500 was  [05]
declared by the company at 2.5% per share. Find number of shares issued by the company.

Neil purchased 1200 units of a mutual fund by investing Rs.60000. if the entry load was 2%, find  [05]
NAV on the date of purchase.

Nihar invested Rs.40000 in a mutual fund on 14-2-2012 when its NAV was Rs. 13.65. a dividend of [05]
Rs.3 per unit was given on 20-4-2012. Afterwards he sold all the units on 20-8-2012 when NAV
was Rs. 16.85. Find his gain if there is no entry and exit load.

An investor joined the SIP scheme for a mutual fund under which he 5 would invest Rs. 15000 for 5 [05]
months. If the NAVs for each month are Rs. 42.6, Rs.45,Rs. 47,Rs.47.5 and Rs. 60, find the average
cost using Rupee cost averaging method, the entry load being 2.5% throughout for these months.

Attempt Any Four from the following:

A)

B)

C)

D)

E)

From 4 professors and 6 students, a committee of 4 is to be formed. In how many ways the [05]
committee can be formed such that it contains only one professor.

How many numbers of 5 digits can be formed using the digits 1,2,3,4,5,6 such that [05]
i) no digit is repeated
ii) repetition of digits is allowed

How many ways out of 11 members of a cricket team choose a Captain, Vice-captain and wicket- [05]
keeper from among themselves?

Solve the linear programming problem graphically. [05]
Min z= 10x+7y
Subject to; 2x+y=2,

x+3y=3,

x,y=0

A cracker manufacturer produces two types of crackers, rockets and bombs packed in boxes of [05]
hundreds in its two factories. Factory I performs the basic assembly operation. Factory Il performs

the finishing operation. For financial reason, Factory I has only 180 hours available per week and
factory Il has 120 hours available. Factory I needs 3 hours on each box of rockets and 10 hours on
each box of bombs. Factory Il needs 6 hours on box of rockets and 4 hours on box of bombs.

The profit of the company is Rs.45 per box of rockets and Rs.55 per box of bombs.

Formulate the LPP to maximize the profit.
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SECTION- 11

Q.3 Attempt Any Four from the following:

Q.4

A) Find the median and the fifth decile for the following frequency distribution:
Class Interval 5-10 15-20 25-30 35-40
frequency 16 14 13 17

B) Write merits and demerits of mean and mode.

C) Draw a histogram and hence locate the mode graphically for the following distribution of marks:

Marks 20-30 30-40 40-50 50-60
No. of students 11 15 24 14
D) From the following frequency distribution, calculate the standard deviation:
X 5 6 7 8 10
frequency 3 7 4 2 4

E) For the following data, find the combined mean. Also find which group has more variation.

Group I Group II
Number of articles 70 90
Mean 75 82
Variance 16 49

Attempt Any Four from the following:

A) Define the following terms with examples:
ii) sample space

i) Complementary event

B) Two unbiased dice are thrown. Find the probability that
i) Number on first die is less than number on second die.
ii) Sum of numbers on the two dice is 8.

C) IfP(A)=1/,,P(B)=1/3,P(AUB)=1/6.Find P(A') and P(ANB).

D) The following table shows a Probability Distribution of a Random Variable X.

X -1 0 1 2 3
P(X) 0.1 0.25 0.25 0.2 0.2
Find (i) P(X>1) (i) E(X) (iii) V(X)

E) Four cards are to be selected from a pack of well shuffled 52 playing cards. Find the probability

that
i) - All are back
ii) Only one is king
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Q.5 Attempt Any Four from the following:

Q.P. Code :19436

A) For the following pay off table, suggest the best decision by using,

B)

C)

D)

The product is sold at Rs. 100 per unit with cost price Rs. 70 per unit. Prepare a payoff tables and

i) Maximax criterion

ii) Maximin criterion

iii) Laplace criterion

nature| SI S2 S3 S4
action
Al 57 24 37 50
A2 24 28 32 13
A3 12 34 26 44

Draw a decision tree for the following decision making problem and suggest the best decision:

nature S1 S2 S3

action
Al 34 20 18
A2 14 16 12
Probability 0.2 0.3 0.5

Define the following along with examples:

i) Acts

ii) States of Nature

The following is demand distribution of a certain product:
No. of units demanded 10 11 12
probability 0.35 0.40 0.25

decide the best decision. The unit not sold is wasted.

E) For the following

ay off table, suggest the best decision by EOL method

nature S1 S2 S3
action

Al 14 16 10
A2 12 15 16
A3 20 18 14
Probability 0.4 0.3 0.3

skokokskkskskskk
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[ 3Hours] [ Total Marks : 100 ]
Please check whether you have got the right question paper.

N.B: 1. Strictly avoid resorting to any unfair means during the examinations.
2. Figures in brackets to the right indicate full marks allotted to the question.
3. Working notes should form part of your answers.
4. All six questions are compulsory, although, there are internal options in case of
guestions 2 to 6.
5. Use of simple calculator is allowed.
1. A) State whether the following statements are True or False (Any 10) : (10)
1)  Change in the Method of Depreciation on Fixed Assets needs to be disclosed as
per AS-1.
2)  Valuation of Stock of goods in trade is done at Cost only.
3) Interest on asset purchased on Hire purchase basis is charged by the vendor.
4)  Revenue expenditure includes cost of improving the storage capacity of a
computer by changing the hard disk.
5)  Trading Expenses are debited to Profit and Loss Alc.
6) Balance sheet shows the profitability of the organization.
7)  Departmental accounting helps to determine profit or loss of each department.
8)  When Department A transfers goods to Department B, Department A a/c is
debited and Department B A/c is credited.
9)  Lighting is allocated on the basis of horse power of equipments installed by each
department.
10)  Under Hire purchase system, depreciation is charged on the Hire Purchase Price
of the Asset.
11)  The disclosure of significant accounting policies is mandatory as per AS-1.
12)  Dividend received on shares is a Capital Receipt.
B) Match the column A with most appropriate answers in column B. (Any 10) : (10)
Column A Column B
1 | Method of stock Valuation a | Allocated on the basis of sales
2 | Accounting Standard -9 b | FIFO method
3 | Drawing by proprietor ¢ | Added to purchases in manufacturing
account
4 | Capital Expenditure d | Evaluation of performance of each
department
5 | Basic rule for valuation of stock e | Fundamental Accounting assumptions
6 | Weighted Average method f | Purchase of Fixed assets.
7 | Accounting Standard — 1 g | Financing Activities
8 | Import duty on purchase of Raw h | Initial payment at the time of hire purchase
material agreement
9 | Selling Expenses i | Lower of Cost or Net realizable Value
10 | Down Payment j | Revenue Recognition
11 | Departmental accounting k | Debited to capital account
12 | Capital receipt | | Total Cost of Inventory/ Total Units of
inventory
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2. From the following Trial Balance of Mr. Shivprasad, prepare Manufacturing Account,
Trading Account, Profit and Loss Account for the year ended 31%*March, 2018 and
Balance Sheet as on that date :

Trial Balance of Mr. Shivprasad as on 31t March, 2018

Particulars Dr. (%) Cr. (%)
Sales 25,00,000
Debtors 1,86,000
Opening Stock - Raw Material 59,000
Opening stock - Work in Progress 70,000
Opening Stock - Finished Goods 1,00,000
Purchase of Raw Material 16,00,000
Carriage Inward on Raw Material 89,000
Direct Wages 1,48,000
Rent (75% for factory) 80,000
Drawings 18,000
Creditors 2,00,000
Cash at Bank 75,000
Salaries 1,58,000
Discount Allowed 17,000
Capital Account 11,00,000
Machinery 12,00,000
Total 38,00,000 38,00,000

Following further information is provided :

1. Closing stock as on 31 March, 2018:
Raw Material 60,000, Work-in-Progress 70,000, Finished goods ¥1,05,000.

2. Depreciate Machinery @5% p.a.

3. During the year goods costing 30,000 were distributed as free samples which
remained unrecorded.

4. On 3" September, 2017, there was a fire in the godown of Mr. Shivprasad, destroying
goods worth 10,000 which includes 4,000 raw material and 6,000 finished goods,
insurance company admitted the claim for £8,000.This transaction was not recorded in

the books.
5. Provide Reserve for Doubtful Debts @ 5% on Sundry Debtors.
OR
57342 Page 2 of 12
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2. From the following Trial Balance of Mr. Girija, prepare Manufacturing Account, Trading (15)
Account, Profit and Loss Account for the year ended 315 March, 2018 and the Balance
Sheet as on that date :

Trial Balance of Mr. Girija as on 315t March, 2018

Particulars Dr. (%) Cr.(?)
Goodwill 4,42,000
Purchase of Raw Material 11,24,000
Capital 16,80,000
Carriage inward 31,000
Bills Receivable / Bills payable 1,00,000 1,10,000
Opening Stock - Raw Material 50,000
Opening stock - Work in Progress 56,000
Opening Stock - Finished Goods 1,19,000
Sales 18,32,000
Direct Wages 3,42,000
Factory Power and Fuel 53,000
Machinery 9,60,000
Office Salaries 99,000
Cash at Bank 1,60,000
Selling and Distribution Expenses 29000
Creditors 86,000
Sale of scrap 7,000
Sundry Debtors 1,50,000
Total 37,15,000 37,15,000

Following further information is provided to you :

1. Closing stock as on 31 March, 2018 is :

Raw Material 85,000, Work-in-progress 58,000 and Finished Goods £90,000.

2. On 28" March, 2018, Finished goods costing 10,000 were sent on sale or approval basis
@ 20% on cost. These goods were not approved till 31% March, 2018. The effect for the
same needs to be given as the time for approval was not expired.

3. Depreciate Machinery @ 5% p.a.

4. Included in Debtors Account an amount of 12,000 receivable from one customer Mr.
Harshad. He is also our supplier for 10,000 which was included in Creditors Account. It
was decided to adjust Mr. Harshad’s Accounts against each other.
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M/s. Spandan Transport purchased a Bus on Hire Purchase basis from M/s. Volvo Ltd. on (15)
1%'January, 2015. The cash price of the Bus was £30,00,000. An initial payment of £12,00,000

was made on the date of purchase. The balance was paid in 3 annual installments excluding
interest as follows:

31.12.2015 ¥6,50,000
31.12.2016 ¥6,00,000
31.12.2017 ¥5,50,000

M/s. Volvo Ltd. charged interest @ 10% p.a. and M/s. Spandan Transport charged
Depreciation @ 15% p.a. on Written Down Value Method. You are required to prepare Bus
Account and M/s. Volvo Ltd. A/c. in the books of M/s. Spandan Transport for 3 years ending
31.12.2015, 31.12.2016 and 31.12.2017.

OR
From the following information prepare Departmental Trading and Profit & Loss account for (15)
the year ending 31% March, 2018 in the books of Ganesh Super Market :

Particulars Department A () | Department B (%) Total ()

Opening Stock 2,50,000 4,00,000 6,50,000
Purchases 10,00,000 8,00,000 18,00,000
Sales 22,50,000 15,00,000 37,50,000
Wages 1,50,000 1,00,000 2,50,000
Office Salaries 12,00,000
Discount allowed 2,20,000
Discount Received 72,000
Rent paid 16,000

Additional Information :
1)  Stock in hand as on 31 March, 2018 — Department A =8,50,000.
Department B =7,00,000.
2)  Office staff appointed by Dept. A 10 persons & Dept. B 5 persons
3)  Areaoccupied by Dept. A 1000 sq. ft. & Dept. B 600 sg. ft.
4)  Depreciation on furniture was 13,000 which was allocated in Dept. A & B equally.
5)  Goods transferred from Dept. A to Dept. B was ¥4,00,000.

Following is the information related to purchases and sales of goods made by Jai Enterprise in  (15)
the month of March, 2018. Find out from the given information.
a) ~ The value of Closing Stock as on 31% March, 2018 using Weighted Average Price
Method.
b)  Cost of Goods Sold for the month of March, 2018.
c)  Sales and Gross Profit for the month of March, 2018.

Date Particular Units Rate
03-03-2018 Sales 1,500 600
06-03-2018 Purchases 3,500 500
13-03-2018 Sales 4,000 700
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18-03-2018 Purchase Return from purchase of 6™ March 500
20-03-2018 Purchases 5,000 470
22-03-2018 Sales Return out of sale of 3rd March 1,500
25-03-2018 Sales 6,000 750
27-03-2018 Purchases 5,000 530
30-03-2018 Sales 4,000 700
31-03-2018 Purchase 3,000 550

Stock on 1% March, 2018 was 3,000 units @ 400 per unit.

4. From the following particulars of Chaitanya Garments prepare Trading& Profit & Loss (15)

OR

account of two departments’ i.e. Garment & Cosmetics for the year ended 31 March 2018.

Particulars Garment Dept. () | Cosmetic Dept. (%) Total (%)
Opening Stock 65,000 50,000 1,15,000
Purchases 2,40,000 1,60,000 4,00,000
Sales 3,20,000 2,80,000 6,00,000
Salaries 12,000 10,000 22,000
General expenses 15,000
Rent & Rates 30,000
Carriage Inward 6,000
Carriage Outward 12,000
Discount allowed 9,000
Discount received 4,500
Travelling Expenses 15,000
Insurance charges 5,000

Additional Information :

1)  General expenses & Insurance are to be allocated equally.
2)  Areaoccupied by Garment & Cosmetic department are in the ratio of 4:1.

3) Closing stock of Garment Dept. is £1,20,000 & that of Cosmetic Dept. is £60,000.
Other expenses & Income to be allocated between two departments on suitable basis.

5. State whether the following expenditures and receipts are Capital or Revenue and give reason (15)

for your answer :

1. Carriage paid for bringing new machinery ¥25,000.
2. Sold old business car for ¥2,50,000.

3. Insurance premium paid ¥25,000 to General Insurance Company for insurance of

Plant.

4. Loan repaid ¥1,25,000, which was taken from State Bank of India.

5.  Paid tax consultancy fees 40,000 to CA Deshpande for the year ended 31 March,

2018.

6.  Cost of improving seating capacity of cinema hall £7,00,000.

7. A manufacturer purchased raw material of 1,50,000 and produced goods worth

Z3,00,000 and sold 50% of the same for £2,00,000 to M/s Raj Traders.

57342
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5. Find out the value of closing stock of M/s Max Ltd. using FIFO and Weighted Average (15)
Methods from the following data:

Date Particulars Unit @z
08-03-2018 Sales 500 750
20-03-2018 Sales 1,000 800
31-03-2018 Sales 1,500 850
12-03-2018 Purchases 1,200 550
15-03-2018 Purchases 1,000 600
23-03-2018 Purchases 1,500 700

Opening stock on 1% March, 2018 was 800 units @ 500 per unit.

6. Answer the following :

a) Explain Accounting Standards and state the advantages of Accounting Standards. (10)
b) Explain features of Hire Purchase Agreement. (10)
OR
6. Write Short notes on any four of the following : (20)
a) Limitations and advantages of Weighted Average Method of Stock Valuation.
b) Revenue Expenditure.
c) Adjustment entries in Final Accounts.
d) Trading Account and Profit & Loss Account.
e) Main features of AS-9 Revenue Recognition.
f)  Fundamental Accounting Assumptions as per AS-1
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Paper / Subject Code: 80908 / Business Communication-I

Time : Three Hours Marks : 100
Please check whether you have got the right question paper
N. B. All questions are compulsory
Q. 1 A. Explain the following terms in 2-3 sentences (any five) 10

1. Proxemics

2. Decoding
3. E-mail
4. Consensus
5. Moodle
6. Business Etiquette
7. Twitter
8. Language barrier
B. Match the following: 05
1. Personal integrity a. Trading
2. Silence b. Technical Language
3. E-Commerce c. WhatsApp
4. Jargon d.  Non-verbal Communication
5. Smart Phone e. Ethics
C. Fillin the blanks choosing the best alternative from the ones given below. 05
a. Signs and were mainly used when language did not exist.
i.  Telegrams ii. letters iii. symbols iv. cell phones

b. Visual communication happens through

I. Sound ii. Pictures iii. Language iv. Music

c. Noise and distance are considered to be barriers.

I.  Cultural ii. Physical iii. Mechanical Iv. Semantic
59295 Page 10f6
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d. gives legal validity to a letter.
i. Subject line ii. Signature iii. Enclosures iv. Date
e. scans incoming mails
i. Virus protection  ii. CD iii. Filter iv. Censor
software
Q. 2 Write short notes on (Any Four) 20

a. Horizontal Communication

b. Grapevine

C.

d.

Body language

Social Media

Advantages of written communication

Feedback

Q. 3 Answer any two of the following 20

a.

Explain the term psychological barriers. Discuss in detail any three psychological
barriers to communication

Define listening. Discuss obstacles to listening and measures to overcome them.

Explain Business Ethics. Discuss the role and importance of Business Ethics in the
world today.

Q. 4 Draft a reply in response to the following advertisement 10

“A reputed publishing house requires Junior Accountants. Interested commerce
graduates familiar with Tally and the use of computers , may send their application with
resume within ten days to: PO Box 1720, The Times Of India, Mumbai — 400001’

Q. 5 Draft the following letters (Any Four) 20

a. Behroz Azmi wishes to pursue a Post Graduate degree in Global Markets and

Equities from Perth University. Draft an SOP on behalf of Ms. Behroz

b. Draft a recommendation letter for Ms. Shalini Monteiro of the HR department of

59295

your organization who wishes to apply for the post of an Asst. Manager ( HR)
with RBN Ltd.
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c. You have received a job offer for Accounts Officer from Nexus Pvt Ltd. Draft your
letter of acceptance of the job offer.

d. Mr. Rajeev Sinha of Tarang Ltd., Mumbai working as an Accounts Manager wishes
to resign from his post. Draft a letter of resignation on his behalf.

e. Mr Roshan Sen, a new intern with Athithi International has displayed exemplary
presence of mind and decision making skills during a life threatening crisis that a
guest at the hotel faced. Draft a letter of appreciation to him.

Q. 6 A. Write a paragraph in about 150 words on any one of the following 05
a. The Challenges of the 21st century

b. The India of my dreams

B. Read the following situation carefully and answer the question below 05

Mr. Rajat Gaur, the newly appointed Branch Manager at Reliable Banks believed that
matters concerning the working of the bank must be routed through the various channels of
hierarchy. He did not encourage staff to meet him. As a result a lot of time was spent in
matters being dealt with at various levels of the hierarchy before finally reaching Mr Rajat.
This created dissatisfaction among staff, also delayed decision making affected the bank’s
working.

Q.1 Identify and explain the problem in the channel of communication that Mr Gaur 03
practices

Q.2 How can the problems that the staff face be overcome, according to you? 02
3k 3 3k 3k 3k 3k 3k %k k *k
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Q. 6 A. Write a paragraph in about 150 words on any one of the following 05
a. The Challenges of the 21st century

b. The India of my dreams

B. Read the following situation carefully and answer the question below 05

Mr. Rajat Gaur, the newly appointed Branch Manager at Reliable Banks believed that
matters concerning the working of the bank must be routed through the various channels
of hierarchy. He did not encourage staff to meet him. As a result a lot of time was spent
in matters being dealt with at various levels of the hierarchy before finally reaching Mr
Rajat. This created dissatisfaction among staff, also delayed decision making affected the
bank’s working.

Q.1 Identify and explain the problem in the channel of communication that Mr 03
Gaur practices

Q.2 How can the problems that the staff face be overcome, according to you? 02
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[Time: 3Hourg) [ Marks: 100]

N.B: 1. All questions areompulsory.

2. Figuresto theright indicate fullmarks.

1. (a) Fillinthe blanks with suitable options given beldany 10) 10

(1) Mining and Oil exploration are the examples of industries.

(primary , construction , extractive)

(2) conept of business is concerned with customer satisfaction.

(Modern ,Traditional , Profit making)

(3) Survival and growth are the objective of business.

(social , organic , economic)

(4) Suppliers form a part of environment.

(internal , micro , macro)

(5) Business and its environment are

(separable , unrelated , inseparable)
(6) is a trading bloc consisting of European countries.
(EU, ED, EC)

(7) Feasibility report is prepared feasibility studies.

(alongwith , afterbefore)

(8) act as a reference guide during the execution of the project.

(legal report , feasibility report , project report)

(9) Proximty to market of a plant is required in case of products.

(perishable , durable, luxury)

(10) is an entrepreneur within an existing organisation.

(manager , intrapreneur , leader)

(11) Entrepreneurs need to take decisions.

(proactive , reactive, hasty)

(12) is one of the qualities of entrepreneurs.

(laziness, creativity , impatience)

[TURN OVER
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2

1. (b) Sate whether following statements dree or False (any 10) 10
(1) Industryis an integral part of business.
(2) Business firms have social responsibility only towards employees.
(3) India's exports reduced due to globalisation.
(4) Business environment is dynamic in nature.
(5) Business organisation can control its external environment.
(6) GATS s an agreement o\

(7) Project Planning provides guidelines for completion of a project within a
certain time frame.

(8) Government does not provide any financial incentives and assistance to
entrepreneurs.

(9) Abusiness unit has to follow legal provisions before starting the operations.
(10) Only economic factors contribute to the growth of entrepreneurs .
(11) The primary motive of a manager is innovation.

(12) Social entrepreneurs are profit oriented.

2. Answer the followingany two) 15
(1) Define business and explain its main functions.
(2) Explain briefly the human and national objectives of business.

(3) What is turnaround strategy? Explain the steps in turnaround strategy

15
3. Answer the followindany two)
(1)  What s business environment ? Explain its importance.
(2) Explain the components of internal business environment.
(3) Explain the impact of trading blocs on Indian business.
4. Answer the followingany two) 15

(1)  Distinguish between project report and feasibility report.
(2)  State the factors determning location of a business unit.

(3)  Discuss the filing of returns and other documents of a business unit.
58587 [TURN OVER
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5. Answer the followingany two) 15
(1) Define entrepreneubDescribe the main features of entrepreneurship.

(2) State the competencies (qualities) necessary for successful
entrepreneurship.

(3) What are the problems faced by Indian women entrepreneurs?

6. Write short note on(any four) 20
(1) Globalisation
(2) Merger strategy
(3) Educational environment
(4) WTO
(5) Role of government in promotion of business unit

(6) Intrapreneur
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guAar:  f) e uvA e ST
) SSIHIhEIeT 3Teh I 0T GFieTaTd.
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N.B.:

1. (A

a)
b)
c)
d)

a)
b)
c)
d)

i)
a)
b)
c)
d)

iv)
a)
b)
c)
d)

a)
b)
c)
d)

55700

Paper / Subject Code: 80907 / Business Economics-|

Duration 3 Hours

Marks :- 100

Please check whether you have got the right question paper.

1. All Questions are compulsory
2. All questions have internal choices

3. Use of simple calculator is permitted
4. Figures to the right indicate full marks
5. Draw neat diagrams wherever necessary

Select the best answer from the given options and rewrite the statement (Any Ten) 10
Incremental principle states that an investment decision is profitable if

revenue increases more than cost
cost reduces more than revenue
both a) and b)

None of the above

The market supply schedule shows

supplied.
inverse

direct

no

None of these

In case of normal goods, demand curve is
upward sloping

downward sloping

vertical straight line

horizontal straight line

Kinked demand curve is observed in
Perfect competition

Monopoly

Monopolistic Competition
Oligopoly

If demand is price elastic, then
arise in price will raise total revenue.
a fall in price will raise total revenue.

relationship between price and quantity

market

a fall in price will increase the quantity demanded.
arise in price won't have any effect on total revenues.

Page 1 0of 9
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vi) Which of the following is a limitation of consumer clinic method of demand
forecasting?
a) Abnonnal consumer behavior
b) Expensive
c¢) Neitheranorb
d) Bothaand b

vii) Short run production function includes
a) only Fixed factors
b) only Variable factors
¢) both fixed and variable factors
d) None of the above

viii) The narrowing distance between successive isoquants denotes
a) Increasing returns to scale
b) Decreasing returns to scale
c¢) Constant returns to scale
d) None of the above

iX) Which of the following is an example of Internal Economies of Scale?
a) Labour Economies
b) Technical Economies
c) Managerial Economies
d) All of the above

X) In the short run, the slope of TC curve is the same as slope of
a) AVC curve
b) TEC curve
c) TVC curve
d) AFC curve

xi) The difference between private and social cost is due to
a) opportunity cost
b) diminishing marginal utility
c) externalities
d) accounting errors

Xii) refers to an unavoidable cost which cannot be recovered.
a) Opportunity cost
b) Sunk cost
c¢) Real cost
d) Implicit cost

Page 2 of 9
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Write whether the following statements are true or false (Any Ten) 10
Demand is desire backed by willingness and ability to pay.

Opportunity costs can always be measured in terms of money.

Under monopoly market, when TR is increasing MR is negative.

When the demand is perfectly elastic, the demand curve will be a vertical straight line.
Demand curve under monopoly is perfectly inelastic.

Long term forecasts are required for capital investments.

Technology is variable in long run production function.

MRTS is measured as AK/ AL

A firm experiences increasing returns of scale due to technological advancements.
Implicit costs are measured as opportunity cost.

Learning curve expresses the decline in average cost due to better experience.
MC=AC when AC is minimum.

Attempt Aand BOR C and D

Discuss the scope of study of Business Economics. 07
Given the following data calculate TR, AR, and MR. Also identify the market structure 08
and state the relationship between TR, AR and MR.

Output (Unit) 1 2 3 4 5 6 7
Price (Rs.) 10 10 10 10 10 10 10
OR
Write an explanatory note on the use of marginal analysis in decision making in 07
business.

The demand function for a commaodity is given as Qd =40 - 0.1P and its supply function 08
is given as Qs = 20 + 0.2P. Make a schedule of demand and supply at prices Rs.100/-,
Rs.200/, Rs. 300/- and Rs.400/-. Find the equilibrium price and quantity.

Attempt A and B OR C and D
State and explain the law of demand. Write the assumptions and exceptions to the law 07
of demand.
Describe the nature of demand curve under perfect competition and monopolistic 08
competition.

OR
What is demand forecasting? What is the significance of demand forecasting? 07
A movie theatre charged Rs.100/- per ticket and sold 500 tickets per show. When the 08
price of tickets was raised to Rs. 125/- the theatre was able to sell only 450 tickets.
Estimate price elasticity of demand for movie tickets. Is it beneficial for the theatre to
raise the price? Justify your answer.

Attempt Aand B OR C and D

Define isoquants. What are the properties of isoquants? 07
What is meant by diseconomies of scale? Discuss the various internal and external 08
diseconomies of scale.
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OR
What is meant by Economies of Scope? How is it different from Economies of Scale? 07

The following table shows total product of a firm due to increase in labour input used in 08
combination with a fixed input of capital:

Labour input (Units) 01 2 3 4 5 6 7 8

Total Product (Units) 0| 50 | 110 | 180 | 240 | 270 | 282 | 282 | 240

1) Calculate average product and marginal product.
i) Name and mark the three stages of law of variable proportions in the table.
iii) In which stage will a rational producer operate? Justify your answer.

Attempt Aand BOR C and D

Explain the nature and relationship between AFC, AVC, ATC and MC curves of a firm. 07
Given TFC = Rs.55/-, calculate TC, AFC, AVC and MC 08
Output (Units) 0 1 2 3 4 5 6
TVC (Rs) 0 30 55 75 105 155 225
OR
What is meant by break -even point? How is break-even point determined? 07

For a hypothetical firm, if price of product is Rs.80/-, TFC is Rs.5000/ and AVC is 08
Rs.30/-, then

i) Calculate breakeven output for this firm

i) At the original TFC and AVC, how does breakeven quantity change if price rises to

Rs. 130/-?

iii) At the original price and TFC, what will be the breakeven quantity if AVC rises to

Rs. 60/-?

iv) At the original price and AVC, what will be the break even quantity if TFC rises to
Rs. 6000/-?

Attempt A and B OR Write Short Notes on any four:

Define income elasticity of demand. Explain the degrees of income elasticity of demand 10

using examples.

Derive the long run average cost curve and write its features. 10
OR

Write Short Notes on any four 20

Functions and equations
Promotional elasticity of demand

iii. Types of isoquants

Expansion path
Accounting and economic cost

. Applications of break-even analysis

%k 3k K 3k K 3k K K K kK K Kk Kk Kk
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Q.1

Q.1

Q.2

59397

N.B:

a)

vii)
viii)
IX)

A)
B)

C)

Paper / Subject Code: 80909 / Environmental Studies-I

[Time: 3 Hours] [ Marks:100]

Please check whether you have got the right question paper.
All questions are compulsory and carry equal marks.
Use of map stencils and simple calculator is allowed.
Use of coloured pens, pencils is allowed.
Attach the given map along with your answer book.

NS

Study the following thematic map of the world and answer the questions.

DISTRIBUTION OF POPULATION

What is the theme of the map?

Which cartographic technique is used to represent the theme?
Name the two countries having highest population in Asia?
Compare the population of Europe and Africa?

What is the population of Australia and why?

Mark and name the following at the most appropriate location in the outline
map of the world supplied to you.

An area in India having physical water scarcity.

A country with highest deforestation rate in South America.
The busiest area of ocean transport.

London

Tropic of Capricorn.

Longest river flowing in Sahara desert.

Area of Ring of Fire.

Any land locked country in Africa.

The Great Australian Desert.

The sea separating Europe and Africa.

Attempt any two from the following:

Explain how the Biotic components of environment influence the human
activities?

Describe the dynamic role of man as both destructor and protector of
environment?

Bring out the characteristics and types of Eco-systems.

Page 1 of 5
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Q.4

Q.5
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A)
B)
C)

A)
B)
C)

A)
B)

C)

Paper / Subject Code: 80909 / Environmental Studies-I

Attempt any two from the following: 20
Describe the main causes of Deforestation in the world.

Classify the energy resources according to their nature.

Describe in details the methods of conservation of water Resources..

Attempt any two from the following: 20
Explain the National Population Policy of India in Detail.

Describe the Demographic Transition Theory with Diagram.

Which are the causes of population explosion in India.

Attempt any two from the following: 20
Define “Smart City?” Explain the features of a smart city?
Mumbai is known as the ‘Magnet of Migrants’. Describe the statement by

giving push-pull factors of migration.
How does migration affect the urban environment?

*hkhkhhkrhkhkkkkhkhkiiiik
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(F3T FYia)
[3e5:3 7]

SElh 8. T 9 AT HTed o =T G 07 AT,
R. TR Tt STarr=ht Teart 3172,

3. T QUCRIET ST TehTRIT STATRE SHTST.
¥. Gt U9 o Ufedet =T Aot WRa ST,

TR F) el foeieT foraTaT TR e O AT wareft e forer:

DISTRIBUTION OF POPULATION

TeRTeTTIT foree shivraT TR,

TR GETde Haid STTEd AThEEAT AT &I <= A1df fofaT,
FUT HAT SATThHT W Tl AT T .

AT T AT fehdl? 21?2

£ X W

THETAAT faetedT SHTTAT TSI ETeilel TGS e SRga:
STATEIT 3THTE STHAAT HRATA TS Teh T

2faTor ST ST i SIEd aeheTs BI0TRT <37
STl G id S AT Je3T

IRl

HeRd

eI ATesacTiae 3Tt o et

T 3T wrRRET eI

SATSRoheiet Weh WU (landlocked) 3T

AT AT ATesae

SO B0 7700, 5., 5 388 25 Y8
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o]
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Treitet fecieaT Tl g Teri=t I forar.

AT STNTIER T Sifaeh T2k ohdl THOMT Hidld d T8 .
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Paper / Subject Code: 80901 / Foundation Cour se-

(2 %2 hours) Total marks: 75
N. B (1) All questions are compulsory
(2) All questions have internal choice
(3) Figures to the right indicate full marks

Q1. A. Choose the correct alternative: (Any eight) (08)

1. The Eightfold path was given by
(Jesus Christ, Buddha, Mahavira)

2. Among the states, has the highest literacy rate.
(Kerala, Maharashtra, Haryana)

3. is the main reason of female foeticide.
(Preference for male child, Unemployment, Globalisation)

4. is a form of social violence against women.
(Eve teasing, Abduction, Dowry harassment)

5. Belgaum border dispute between the States of Karnataka and Maharashtra is an
example of (Regionalism, linguism, Casteism)

B. e arises out of religious fundamentalism.

(Communalism, Nationalism, Racism)
7. Caste system is a form of stratification.
(Political, economic, social)
8. The specifies the power of parliament to amend the Constitution
and the procedure of it.
(Article 368, Article 344, Article 246)
9. functions at the village level.
(Zilla Parishad, Panchayat Samiti, Gram Panchayat)
10. 73" Amendment of the Indian Constitution is related to
(Parliamentary system, independent judiciary, Panchayati Raj)

Q1. B. State whether the following statements are ‘True’ or ‘False’: (any seven) 07)

Demography is a study of population.

Unemployment rate is very high in rural areas as compared to urban areas.

After cataract, glaucoma is the second most common cause of blindness.

National Institute for Mentally Handicapped is located at Secunderabad.

Caste system has created an egalitarian society.

Political justice is meaningless without economic justice.

Regional conflicts do not damage the integrity and unity of the nation.

Financial emergency can be declared under Article 360 of the Indian Constitution.
Municipal Commissioner is appointed by the State Government.

10 Participation of women in politics in India is very heartening.

Oy 095 N HOWQIVOE0LS O 2
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Paper / Subject Code: 80901 / Foundation Cour se-

Q2.A. Examine the factors responsible for declining gender-ratio in India. (15)
OR
Q2. B. State the causes and types of physical disabilities.

Q3. A. Define communalism. Explain the factors responsible for the growth of communalism
in India. (15)

OR
Q3. B. Discuss the inequalities caused by the caste system.

Q4. A. Describe the fundamental duties of the citizens of India. (15)
OR

Q4. B. Explain the features of the Indian Constitution.

Q5. A. Analyze the features and functions of the political parties in India. (15)
OR
Q5. B Write short notes on the following: (any three)

Linguistic  diversity

Communal harmony

Characteristics of rural India

Role of women in politics

74t amendment to the Indian Constitution

a b wn e
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da: R drd 3o AT 0T oY

T ?) Id IR Hfeard 3MTed.
?) 3eTdishster 3k qut I[oT Eeifard.
3) 3TARTSAT dICeTrT SISl TRAYTAHRT TgTar.

1T ¢ 37) AT 9T fAGsET.( FIUTET 376) (o¢)
2. AT 37eifaeh AT Afelder 3.
(W[ e, 9g, 7))
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(R, FERTSE, FRATOM)
3. ¢ Tl-3UEAd HET HRUT 3L,
(FeITelT e, RIS, AfRgehvon)
Y. g1 Afgellar glon=ar TASS FEraRTar s YR TS,
(BSOS, 3IEITT, ESAWS T )
3, Sheilceh TTOT AGRISE AT JTATHUTT SBINT TIATATG B.oovvveviviriniiniannns I UFH 3GIEI0T
3.
(JTddrg, HINIAIG, STaddiG)
€. TTHS FHEHTTUMHD ..ovooeeieeicriicenciiinnns AT gy
(AvETR—Ashdrare, Irsgale, aRifdedy )
. SITrIdre &t TAPROTAT U YR 3T8.

Torehr, 3, TrETioe)

¢ TSTIEA oot ¢ HCAIGEE 0T A gk Iy weey IReR fds

(PolH 36¢, hold 3¥Y, hold WE )

QO TAY AN A, IMGERTIT HIT H.

(Biegr 9Rwg, 9arad @A, ITH 9a13d)

(FEET g, TAAT ~ATIEEAT, T TTT)
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fear
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Paper / Subject Code: 80910/ Mathematical & Statistical Techniques-|

Max Marks: 100 Time: 3 Hrs.

N.B. (1) All questions are compulsory
(2) Figures to the right indicate full marks
(3) Graph papers will be provided on request
(4) Use of simple non-programmable calculator is allowed

SECTION |

Q1. Attempt any FOUR from the following:
a) Mr. Vijay invested in shares of face value Rs. 10. At 6% rate, he received a total dividend

of Rs. 62.40. How many shares did he purchase? (5)
b) A person sold 400 shares at Rs. 55 each paying 0.5% brokerage What is net amount
received by him? (5)

c) Ms. Aayushi invested Rs. 18000 in a mutual fund when the NAV was Rs. 210.47 and
redeemed all the units when the NAV was Rs.290.50. What was the total gain? What was
the rate of return? There were no loads. (Number of units was rounded off upto 3 decimal
places.) (5)

d) Mr. Sachin invested Rs. 30,000 in a mutual fund on 03/05/10 when its NAV was Rs.
66.11. On 5/03/12, he received a dividend @ Rs. 5 per unit. Find the total dividend
received by him, assuming no entry load. (5)

e) An investor invested Rs. 4,000 on the 2" of every month for 5 months in an SIP of a
mutual fund. The N.A.V.s on these dates was Rs. 33.26, Rs. 28.25, Rs. 35.57, Rs. 38.45
and Rs. 44.32 respectively. There was same entry load of 2.22% for all these months. Find
the average acquisition cost per unit. 5)

Q2. Attempt any FOUR from the following:
a) In how many different ways can the letters of the word “FRIDAY” be arranged? Also

find how many of these begin with D. (5)
b) A group of 10 people contains 4 males and 6 females. A committee of 5isto be formed,
find the number of ways such that the committee has all females. (5)
c¢) Solve the LPP graphically: (5)
MaxZ=x+y
Subject to
2x +3y<12
2x +y<8
X, y=0
59674 Page 1of4
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Paper / Subject Code: 80910/ Mathematical & Statistical Techniques-|

d) Solve the LPP graphically: (5)
MinZ=7x+y
subject to
x+4y>4
3x+y=>3
X,y>0
f) A diet of a sick person must contain atleast 4000 units of vitamins, 50 units of minerals and
1400 calories. Two foods F1 and F2 are available at cost of Rs.4 and Rs.8 per unit
respectively. If one unit of F1 contains 200 units of vitamins, 2 units of minerals and 40
calories and one unit of F2 contains 1000 units of vitamins, 2 units of minerals and 20
calories.

Formulate the LPP to minimize the cost. 5)

SECTION 1

Q3. Attempt any FOUR of the following:

a) State the different types of measures of dispersion. (5)
b) Calculate the mean and mode for the following data. (5)
Age in years 10 20 30 40 50
No. of Persons 6 11 20 15 8

c) The following data represents the marks of 150 students in a class. Calculate Q; & Qs and

hence evaluate the coefficient of quartile deviation. (5)
Marks 0-20 20-40 40-60 60-80 80-100
No. of Students 23 37 50 24 16

d) The following distribution gives the weight of forty children living in a colony. Calculate

the standard deviation for the given data. (5)
Weights in kgs. 5-10 10-15 15-20 20-25 25-30
No. of children 4 8 12 10 6
e) Calculate the combine mean of the two groups for the following data and hence check
which group is more consistent. (5)
Group | Group Il
Number 100 200
Mean 50 45
S.D. 5 3
59674 Page2of 4
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Paper / Subject Code: 80910/ Mathematical & Statistical Techniques-|

Q.4 Attempt any FOUR of the following

a) One ticket is drawn at random from a set of 20 tickets numbered from 1 to 20. What is the
probability that number of the ticket drawn is divisible by 2 or 3? (5)

b) If A and B are two independent events and P(A):§ ¢ P(B):g Find P(A”) & P(AU B). (5)
(where A’ is complement of A)

c) Three unbiased coins are toss at a time. Find the expected value of number of Heads. (5)

d) In a group of 125 students, 70 passed in mathematics, 55 passed in statistics and 30 passed
in both. What is the probability that a student selected at random has passed (i) at least in one
subject  (ii) in only one subject. (5)

e) Explain Random variable, Probability distribution and its Expectation with suitable
example. (5)

Q5. Attempt any FOUR of the following:
a) Explain the term ‘Opportunity loss’ in ‘Decision theory’. Explain how the optimal

decision is obtained with respect to ‘Opportunity loss’? (5)
b) Solve the given decision problem using i) Maximax ii) Maximin criteria (5)
Events —
Actions | 51 52 53
AL 5 10 18
A 8 22 8
Az 21 18 12
Ay 30 7 19

c) Determine the best decision according to Minimax Regret criterion for the following pay

off matrix: (5)
Events| Action— A B C
S1 10 12 25
S2 18 24 10
S3 25 30 20
59674 Page 3 of 4
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Paper / Subject Code: 80910/ Mathematical & Statistical Techniques-|

d) Given the pay-off matrix, solve the decision problem using EMV criterion. (5)
States of nature
Action E: E> Es
P 15 14 10
Q 13 15 12
R 17 16 25
Probability 0.5 0.4 0.1

e) Draw a decision tree for the given pay-off table and suggest the optimum decision. (5)

Participation Level
Type of Policy High Medium Low
A 20 18 10
B 15 30 20
Probability 0.35 0.30 0.35
-------------------- - mmmmm XXX KX = mmmmm e oo oo mmmmmmmnmen
59674 Page 4 of 4

08AE2D2E9DOCC5015671E7EE7EA82335



i Y ECOM  Sern T CBSG.S
P&g% b €

ACCOUn\TQnL p& Gn Mo.nokc,emen’t

N.B.:

loo /o

17/\|fz016 3.00 tv .00 pm

( Q. P. Code : 759900

(3 Hours) (Marks: 100)
s e —_— e e

1. Strictly avoid resorting to any unfair means during the examination & abide by
all the rules and relating thereto.

(

A
\

2. Figures in bracket to the right indicate full marks allotted to the ‘,,f\\'{”") (J Q 0
question. \‘7  (opies
3. Working notes should form part of your answers. P

4. Allsix questions are compulsory, although, there are internal optlons»m
case of Questions 2 to 6. . V»
5. Use of simple calculator is allowed. ¢4

<\\

Q.1A Fillin the blanks with the appropriate given options and rewrite coxgﬁlete

sentences. (Any10)

\o
1. Accounting Standard 2 deals with

(Disclosure of Accounting Policies/Revenue Recogmtlon/h@ntory Valuation)

2. The initial amount payable at the time of signing the agreemcnt in Hire Purchase
transaction is .(Hire Purchase Prxg?t own Payment/Cash Price)

3.  The Manufacturing Account is prepared to find tht\
(Gross Profit/Cost of Production/Net Profit) ;\/\

~

4.  In Departmental Accounts, Office Rent hs%ﬁlocated on the basis
of each department. (Sales Turnover/ ccupied/Purchases)

5. 18 Method é:}‘ Stock Valuation, items received first are
issued first, so that the latest purch‘ased items are left in stock. (Weighted Average /
FIFO /Simple Average) ,q"‘

6.  Wages paid for mstallanonqI new machinery is a
(Capital Expenditure/ Capital Receipt/ Revenue Expenditure)

7.  As per the rules, Sto 1%?5 to be valued at Cost or Net Realizable Value whichever is
(ngh&(/jLower/Avallable)

8. For a Book Man%factunng Company, Book is a
(Raw Matenaxl/w ork-in-Progress/Finished Goods)

oA
9. 1hé p{?&on who sells goods on Hire Purchase Basis, is called a
S - (Hire Purchaser/Hire Vendor/Consignor)
10. ‘<> k shows the financial position of the company at the end of the

’\

ﬁ(ear (Trading Account/Profit & Loss Account/Balance Sheet)
/\\

»,1\1}\ In case of a manufacturer, Sale of Scrap appears on the credit side of

Account. (Trading /Profit & Loss / Manufacturing)

12.  Under Credit Purchase Method of Hire Purchase System, Depreciation on Asset
purchased is charged for the first year on .(Full Cash
Price/Hire Purchase Price/Down Payment)

[TURN OVER]
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Q. P. Code : 759900

Q.1B  State whether the followmg statements are TRUE or FALSE after rewrltmg the

same. (Attempt any 10)

;@n the asset side of the balanﬁgsheet

g%

/1.
assets.
« 2. AS-9 does not cover revenue arlsmg from govemment grants and subsidies.
« 3. It is not necessary to disclose the change in accounting policy.
+4. Revenue expenses are non-recurring expenses.
5. The Manufacturing Account always shows a debit balance.
¢6. Departmental Accounts are necessary for evaluating departmental efﬁc;,ﬁ*hcy
+7. Disclosures under AS-1 need not form a part of final accounts.
+8. Income received in advance. is sh@
/9. Hire Purchase Price is the total of cash | price and interest
+ 10. Full Cash Price Method is also known as Credit Purchase Me
< 11. Amount paid as carriage inward is included in cost of mveng”ry
<12.

. last installment.

Q.2

‘:\\

Trading Account, Profit and Loss Account for the s ended 31* March, 2016

and Balance Sheet as on that date.

Trial Balance of Mr. Aditya as on 31st March 2016 :-

Particulars ,,J\Bl‘. (Rs.) | Cr.(Rs.)
Opening Stock - Raw Materials G 12,000
Opening stock - Work in Progress \\\ . 7,000
Opening Stock - Finished Goods s 20,000
Purchase of Raw Materials a¥ 1,05,000
Carriage Inward on Raw MatenalsQO 4,000
Direct Wages < 56,000
Factory Rent > 8,000
Factory Power and Fuel \f(J\ 11,000
Machinery P 80,000
Sales . 3,25,000
Office Expenses < 50,000
Cash at Bank 11,000
Creditors Q" 21,000
Bad Debts ) 1,000
Provisioﬁs\for Bad Debts 2,000
Sundry, Debtors 53,000
Capifal 82,000
Bdwings 12,000
Nrotal 4,30,000 | 4,30,000

o
g

=y

o

5" Following further information is provided to you :

f’) 1. Closing stock as on 31 March, 2016 is:

ol
A

\\

Inventories which are Held for sale in the ordinary course of business are current

From the following Trial Balance of Mr. Aditya, pregz}&; Manufacturing Account,

Under Hire Purchase System the seller is the owner of go\iiﬁk until the payment of

Raw Material Rs 15,000,Work-in-progress Rs 8,000, Finished goods Rs 25,000.

[TURN OVER]
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Q.2

2. Depreciate Machinery' @10% p:a.

Q. P. Code : 759900

3. During the year, finished goods worth Rs. 5,000 were distributed as free samples

but were not recorded.

4. Provide Reserve for Doubtful Debts @ 5% on debtors.

OR

From the following Trial Balance of Mr. Gangadhar,
Account, Trading Account, Profit and Loss Account for the year ended 31“‘/‘March

2016 and Balance Sheet as on that date :-

prepare Manufacturmg as

i
Trial Balance of Mr. Gangadhar as on 31st March 2016 :- -
Particulars Dr. (Rs.) Cr.(Rs?f)
Capital Account - 1,00,000
Opening Stock - Raw Materials 24,000 | &
Opening stock - Work in Progress 4,000
Opening Stock - Finished Goods . 31,000
Purchase of Raw Materials 2.5 0;5()0
Direct Wages ; 8,000
Factory Rent 2\ 8,000
Machinery L 1N71,00,000
Sales o 4,35,000
Cash at Bank XV 6,000
Travelling & conveyance \\\ 20,000
Salaries ne>> 24,000
Discount Allowed o> 7,000
Sundry Creditors £ 90,000
Sundry Debtors s 40,000
Vehicles o™ 75,000
Total : 6,25,000 | 6,25,000

Following further infoi@xation is provided to you :

1. Closing St&@k as on 31% March, 2016:

Raw M;%erlal Rs.25,000,Work-in-Progress Rs.8,000, Finished Goods Rs.35,000.
(%
2. Depf@elate Machinery @10%p.a. and Vehicles @10% p.a.
3 %?)Vlde Reserve for Doubtful Debts @ 5% on Debtors.

AN

~\  not recorded in the books.

{}é}Durmg the year, Raw Materials worth Rs. 5,000 purchased on credit basis were

[TURN OVER]




4 Q. P. Code : 759900

From the following information relating to M/s Akbarallys Departmental Stores, (15) ~
prepare Departmental Trading and Profit and Loss Account and General Profit -
and Loss Account, for the year ended 31° March, 2016

Particulars Dept. X Dept. Y | Dept. Z

Rs. Rs. Rs.
Opening Stock 34,000 45,000 63,000 |
Purchases 4,75,000 | 2,95,000 | 2,75,0001
Sales 7,50,000 5,70,000 5,25,000
Salaries 75,800 87,900 65,300
Closing stock 40,500 31,500 §0,400

Common Income & Expenses: e
Rent Rs. 15,000, Electricity Rs. 25,000, Printing and Stationery Rs;}i}BOO, Discount
Allowed Rs.15,000, Discount Received Rs.18,000, General Expense§<l_%fr>.10,000
Additional Information: NS
Area occupied by the three departments are 900, 600 and 300 Sq::j\?t;’ respectively.
Allocate Electricity and Printing & Stationery in the Rati%\;réf Gross Sales of the
respective departments. =
Allocate the other expenses on appropriate basis, to the extent possible.

OR =
From the following information relating to M/ NS Apna Bazaar Departmental (15)
Stores, prepare Departmental Trading and Pmﬁt\}u'xd Loss Account and General

Profit and Loss Account for the year ending SkI;WDecembet 2015

o
Particulars (V" Dept. Dept
ik B
A Rs. Rs.

Opening Stock L 12,000 15,000

Purchases B 1,05,000 1,20,000

Sales Q3 1,35,000 1,80,000

Wages N 6,000 8, 850

Following are the other, Common Total
Expenses/Incomes: _~ (Rs.)
Salaries o 18,300
Rent & Rates Y . ] 9,000
Carriage Inward 2:250
Carriage Outward 4,200
Discount aljwed 2,100
Discount Received 1,500
Advertisément Expenses 6,300
Audit Fees 600
L.egal Expenses 1,200

\\‘ Additional Information:
(1) Salaries are to be allocated equally.

(2) The area occupied is in the ratio of 1:2 between the two departments respectively.

(3) Closing Stock: Department A Rs. 30,000, Department B Rs. 37,500.

(4) The remaining common expenses /income to be allocated on appropriate basis to
the extent possible.
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Q.4 The following partiéulars have been extracted in respect of Raw materials of Ultra (15)< ‘

Chemicals. Find the value of closing stock as on 30™ June, 2016 on the basis of \-’

(I First In First Out Method and (II) Weighted Average Method. w,\fo
Receipts:- ‘ o : {:f)
01-1-2016  Opening Stock 100 units at Rs. 35 per unit ~N
03-2-2016 Purchased 400 units at Rs. 40 per unit e .

13-4-2016  Purchased 900 units at Rs. 45 per unit o
23-6-2016 Purchased 600 units at Rs. 50 per unit ‘:‘;O
Issues :- : S\
05-3-2016 Issued 400 units C’\V
15-5-2016 Issued 600 units Qo
30-6-2016 Issued 600 units \\SZQ
OR 3
o~

2
Q.4  Find out the value of Closing Stock of M/s Mayuﬁgitd. using (A) FIFO Method (15)
(B) Weighted Average Method from the follow@} details of Material ‘X’ as on 31%

January, 2016. : , \\0
>
A\
Date Particl\l{ifs\ Unit @ Rs.
2016 e
Jan., 05 Opening Stggk 700 25
Jan., 06 Issues 400 -
Jan., 09 Purchages 900 35
Jan.,, 11 Issue&“ 600 -
Jan,, 16 Pu@hases 200 40
Jan., 21 | Plirchases 900 45
Jan., 31 ohdssues 500 -
O :
3

Q.5 Mr. Lal Prasad\jpurchased a Car on Hire-Purchase Basis from Maruti Ltd on (15)
1* January, Z.?;% He paid Rs. 1,50,000 on signing the contract and agreed to pay 3

installmel’l‘t@\‘ of Cash Price excluding interest as follows:-

On,31.12 2013 Rs. 1,50,000
N
.{{é}n 31.12 2014 Rs. 1,65,000
AN
' On31.122015 Rs. 1,85,000

h\;\'f‘he Cash Price of the car was Rs. 6,50,000. Interest is charged at 10% p.a. by Maruti

f;f;)\ Ltd. on outstanding amount. Depreciation @ 20% p.a. on W.D.V. is charged on the Car.

_(_;,*?V Prepare Car Account and Maruti Ltd. Account in the books of Mr. Lal Prasad for the
_\}j-l“ years 2013, 2014 and 2015,

q%:\ OR
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Q.5 State whether the following expenditure or receipts are capital or revenue. Give (15)

reasons for your answers.

a;:l :

4[;2.
P\‘/C 3:
K 4,
e s
(2'% 6.

Purchased a plot of land for Rs. 25,00,000 and paid Rs. 1,00,000 fees for
registration and allotment.

Received Rs. 3,00,000 on Issue of 15% Debentures.
Interest of Rs. 8,000 paid on Bank Overdraft.

Paid Rs. 6,000 as Excise duty on goods manufactured.

4
o "

wf o

A petrol engine of a passenger bus was replaced by a diesel engine,\*i. 5. 70,000.

Paid Rs. 1,00,000 as fees for renewal of license for factory. o

Received Rs. 2,000 as dividend on shares. ‘“

o)
Q.6  Answer the following: X (20)

a)
b)

What are the provisions of Revenue Recognition qﬁwﬁér AS-9?
Explain the Provisions of Disclosure of Accour;\@fg Policies as per AS-1?
Cb.
ot

OR e
©

N
O :
Q.6 Write short notes on Any Four of the follg\v@mg: (20)

1.
2.
3.
4.
5.
6.

Manufacturing Account. A
FIFO Method of Inventory V%\ngah}lon.
Main Features of AS-2. V\b

Stock Reserve. \f{ ’
Fundamental Acco?((?gibg‘ Assumptions.

Importance of Dsgﬁi“rtmental Accounts.
0

N
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Q.P. Code : 760200

(3 Hours) [ Total Marks :100

N.B.: (1) Al questions are compulsory

1. (a) Explain the following terms in 2-3 sentences (any five)

(1)
(2)
€))
4)

Body language
Grapevine
Marginal listening
E-mail Etiquette

(5) Silence as a means of communication

(6) Dress and grooming

(7) Whats App

(8) Encoding

(b) Match the following :

(1) E-Commerce (a) Communication tool
(2) Social Media (b) Immediate feedback
(3) Physical barriers (¢) Technical language
(4) Oral communication (d) Trading
(5) Jargon (e) Time and distance

10

(c) Fillin the blanks choosiug the best alternative from the ones given below: §

(1)

------------- is the response given by the receiver to the sender's
message.

(a) Encoding (b) Decoding

(¢) Feedback (d) Medium
------------- gives legal validity to a letter.

(a) Subject line (b) Signature

(¢) Confidential notation (d) Enclosure block
------------- is a form of non-verbal communication.

(a) Letter (b) Circular

(c) Report (d) Facial expressions

TURN OVER




Q.P. Code : 760200

2
(4) Notices and circulars are examples of -~---mnmnmmmmv communication.
(a) Upward (b) Downward
(¢) Grapevine (d) Horizontal
(3) Maoodle is a tool for ~~--—rsnsrsa-
 (a) Twitter (b) E-learning
(¢) Whats App (d) Facebook

Write short notes on : (any four)
(a) Advantages and disadvantages of written communication.
(b) Need and importance of Business communication.
(¢) Diagonal communication
(d) Blogs as a means of communication.
(e) Relevance of feedback in communication process
(f) Role of Internet in business communication.

Answer the following : (any two)
(a) Differentiate between hearing and listening. How does one
cultivate effective listening skills?
(b) What is corporate social responsibility? How is it relevant in
the business world today?
(¢) Explain in detail any five psychological barriers to
communication. What are the various means to overcome them.

Draft an application letter in response to the following advertisement:-

"Wanted experienced computer programmers for a company
based in Mumbai. The applicant should be a graduate with adequate
knowledge in computer programming. Apply, with Bio-Data, to Box
No. 56, The Times of India, Mumbai-400001".

Draft the following letters : (any four)
(a) You are applying for the Master's programme in business
management at National University of Singapore. Draft the
statement of purpose.

TURN OVER
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6. (a)

(b)

Q.P. Code : 760200
3
(b) Draft a recommendation letter for your marketing assistant who

has given your name as referee in his application for the post
of marketing manager in another company.

(¢) Rakesh Verma has been offered the post of Accounts managet
in Western India Electronics Ltd. Draft a letter of acceptance
on his behalf.

(d) Rahul. P has changed his residence from Mumbai to Pune. He
has secured a post of sales executive at Tata chemicals Ltd.
Draft his letter of resignation from the post of sales executive
at Hindustan Chemicals Ltd.

(¢) Mr Hitarth of your marketing department has worked hard and
proved his skills in marketing by contributing for the increase

in the profit of your company. Write the letter of appreciation
to him.

Write a paragraph in about 150 words :- (any one)
(i) Say no to plastic

(i) College life

Read the following situation carefully and answer the questions given below:
The General manager of a reputed firm, Mr Vikas, found that

his instructions were not carried out properly by the employees. He
thought that the employees were not Qualified enough to follow his
instructions. So, he tried hiring highly Qualified employees. But,
the problems occurred again. Soon, Vikas realized that the
employees were unable to understand his distinctly American accent.
Vikas, took care to speak slowly using short sentences and simple
language, besides repeating a couple of times.

(1) Identify the barrier. What were the problems faced by the

General manager due to the barrier?
(2) What are the steps taken by Vikas to overcome the barrier?

2
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(3 Hours) [ Total Marks : 100
N. B.: (1) Al questions are compulsory.
(2) All questions have internal choice.
(3) Draw neat diagrams wherever necessary.
(4) Use of simple calculators is permitted.
(5) Figures to the right indicate full marks.
(A) Define the following concepts. Any Ten :— 10
(i) Equation
(ii) Average revenue
(iii) Equilibrium price
(iv) Cross elasticity of demand
(v) Income elasticity of demand
(vi) Demand forecasting
(vii) Isoquant
(viii) Constant returns to scale
' (ix) Diseconomies of scale
(x) Total cost
(xi) Implicit cost
(xii) Break-even point
(B) Select the best answer from the given options and rewrite the
statement. Any Ten :— 10
(i) Which of the following shows the relationship between the

(i)

price of a good and the amount of the good that consumers
want at that price?

(a) Supply curve

(b) Demand curve

(c) Supply schedule

(d) Production possibilities frontier

The market clearing price is also called the
{a) current price

(b) prevailing price

(c) equilibrium price

(d) none of the above

[ TURN OVER




(iii)

@(v)

™

(vi)

(vii)

(vaii)

2 QP Code :760101

What is the cause of the rightward shift of the demand curve
for cars?

(a) An increase in income

(b) An increase in population size

(¢) Lower prices of petrol

(d) AIll of the above

A percentage change in quantity demanded divided by a
percentage change in price is called

(a) income elasticity of demand

(b) price elasticity of demand

(¢) price elasticity of supply

(d) elasticity of substitution

On the lower segment of a downward sloping straight line
demand curve price elasticity of demand is

(@ >1

b) =1

() =1

(d) none of the above

Expert opinion is a

(a) survey method

(b) statistical method
(¢) bothaandb

(d) none of the above:

If there is zero substitutability between capital and labour the
isoquant is

(a) a straight line

(b> ‘L’ shaped

(¢) concave to the origin

(d) none of the above

The total amount of output produced is called
(a) total supply

(b) total product

(c) bothaandb

(d) none of the above [ TURN OVER



(ix)

x)

(xi)

(xii)

3 QP Code :760101

Using five units of labour a firm can produce 2500 units of
a good. Using six units of labour the firm can produce 3000
units of the good. The marginal product of the sixth unit of
labour is

(a) 100 units

(b) 1500 units

(c) 2000 units

(d) 500 units

The rent of a factory is an example of
(a) wvariable cost

(b) fixed cost

(c) bothaandb

(d) neither a nor b

Which of the following curves is used for planning
(a) SAC
(b) SMC
(c): LAC
(d) LMC

The break-even point is influenced by
(a) price

(b) average variable cost

(c) fixed cost

(d) all of the above

2. Attempt A and B OR C and D

(A) What is business sconomics? Discuss its scope. 8
(B) Given the following data 7
Q H 2 3 4 5
O 10 9 8 7 6

(i) Calculate TR, AR and MR.

(1)

Explain the relationship between TR and MR, MR and AR.

OR
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(C) Using diagrams explain changes in equilibrium due to : 8
g p 4 q
(i) increase in demand
(ii) increase in supply

(D) (i) Given the following data for supply and demand for pizzas 7
Price (¥) per pizza Quantity Demanded | Quantity Supplied
(Pizzas per week) | (Pizzas per week)
8 0 40
6 10 : 30
4 20 20
2 30 10
0 40 0

Identify the :
(a) equilibrium price
(b) equilibrium quantity demanded and supplied
(ii) If Qpy = 65,000 — 10,000 P, describes demand for sports shoes.
Complete the following table for P, = 6,5,4,3. Show your
working.
(iii) What are the determinants of demand other than the price of the
good itself?

Attempt A and B OR C and D.

(A) Explain the nature of demand curves of firms in perfect 8
competition and oligoupoly markets.
(B) When the price of season cricket passes is T 400 per pass, the 7

quantity demanded is 10,000 passes. When the price is reduced
to ¥ 380 per puss the quantity demanded is 12,000 passes.

(i) Calculaic price elasticity of demand
(i) According to your answer in (i) what is the degree of price

elasticity?
(iii) Eaxplain the significance of price elasticity of demand.
OR
(C) What are the various types of demand forecasts? 8
(D) {i) What are the steps in demand forecasting? 7

(ii) Given the following demand function Qux =60-0.7P  If
future price is ¥ 20, what would be your forecast of quantity
demanded?

[ TURN OVER




-
10,1

QP Code :760101

4. Attempt A and B OR C and D
(A) (i) Distinguish between fixed proportlons and variable proportions 8
production functions.
(ii) Explain why :
(a) isoquants are convex to the origin
(b) isoquants cannot interest.

(B) Using isoquants and the expansion path explain the law of returns .
to scale.
. OR
(C) Discuss external economies and diseconomies of scale. 8
(D) Using a diagram explain the law of variable proporiions. 7

5. Attempt A and BOR C and D

(A) Draw diagrams to illustrate : 8
(i) TFC, TVCand TC
(i) AFC

z (iii) AVC, AC, MC
(iv) The relationship between AC and MC.
(B) Given the following data : 7
Q 0 1 2 3 “ < 6 7
T 40 52 59 &4 70 78 89 103

Calculate TFC, TVC, MC, AFC, AVC and AC.

OR
(C) Construct the LAC curve using SAC curves. 8
(D) If price = € 7, AVC = T 5 and TFC = ¥ 40,000 ~

(i) What is the break-even quantity?
(ii) What happens to the break-even quantity when price increases
to T 9, AVC and TFC remaining the same?
(iii) What happens to the break-even quantity when AVC increases
to ¥ 6, price and TFC remaining the same?

6. Attempt A and B OR Write short notes on any four

(A) Discuss internal economies and diseconomies of scale. 10
(F) Explain break-even analysis with the help of diagrams. 10
OR

[ TURN OVER
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Write short notes on any four of the following :

1)
(ii)
(iii)
@1v)
)
(vi)

Functions and variables

Relationship between price elasticity and total revenue
Consumer survey method of demand forecasting
Economies of scope

Learning curve

Limitations of break-even analysis

20
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| ES \Q/)‘; _:51_ QP Code : 760301 (06 P“g’“}
(3 Hours) [ Total Marks : 100

N.B. : (1) All the questions are compulsory and carry equal marks.
(2) Draw sketches and diagrams wherever necessary.
(3) Use of map stencil is permitted.
(4) World map (appendix -2) should be tied along with your answer paper.

1. (A) Study the thematic map supplied to you (appendix 1) and answer the
following questions.

(i) Whatis theme and cartographic technique of the map. 2
(i) State the female life expectancy in India and China. 2

(i) Name any three countries having female life expectancy of more 3
than 80 years. .

(iv) Which region has less than 65 years female life expectancy? State 3
the reasons.

1. (B) Mark and name the following features at the most appropriate location in
the outline map of the world supplied to you (appendix 2)
(i) Largest desert in the world and Major mountain range in Asia.
(ii) A densely populated region and a sparsely populated region.
(ili) A country having coastal iocation and a country having continental 2

NN

location.
(iv) Any two largest wind energy producing countries in the world. 2
(v) Any two metropolition cities in northern hemisphere. 2

2. (a) What is Ecosystem? What are the functions of ecosystem?
(b) Give the definition and scope of environment.
OR
(c) State the importance of environmental studies in detail?
(d) Write notes on :
(i) Food chain
(i) Ecological pyramids
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2

3. (a) Define conservation and state the methods of conservation.
(b) Explain the problems associated with management of forest resource.
OR
(c) Describe the types of resources with the help of suitable examples.
(d) Give an account on resource utilization and sustainable development.

4. (a) Explain indefail pattern of population growth and associated problems in
~ the World.
(b) Describe the measures taken to control population growth in India.
OR
(c) Discuss on Human Development Index.
(d) Give in detail population explosion in India.

5. (a) Write in detail degradation of water resources in urban areas.
(b) State the problems arising due to migration in urban areas.
OR
(c) Write notes on :
(1) Urbanisation
(i) Urban Heat islands
(d) Give an account on ' Smart Cities'

0 s st s e
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Question No : 1 (a)

Data not Available

v ” e Female Life Expectancy

Appendix : 1

gRfdse 1

s

2012
e AR 2012

7
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Supervisor’s Sign.
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(2% Hours) [ Total Marks :75

N.B. : (1) All questions are compulsory
(2) Figures to the right indicates full marks.

1. (A) Choose the correct alternative(any eight):- 8
(1) Shwetambar and are the two sects of Jainism
(Digambar, Pitambar, Mahayana)
(2) In India the state of has the lowest gender ratio.
(Rajasthan, Haryana, Punjab)
(3)  The major cause of declining sex ratio is
(Poverty, Pollution, Smoking)
4 In there is farsightedness but not short-sightedness.
: (Hypé'rrrietropia, Myopia, Onomatopoeia)
(5) Anti-Hindi agitations took place in India.
(Northern, Southern, Western)
(6) - The border dispute is a dispute involving the Indian states of
karnataka and Maharashtra.
(Belgaum, Sangli, Pune)
(7)  Prime Minister is the head in India.
(Executive, Judicial, Legislative)
(8) 1s the commander-in-chief of all forces in India.
(Prime Minister, Home Minister, President)
(9) The main aim of every political party is to promote
(Secularism, Casteism, Communalism)
(10) is the head of the Gram Panchayat
(President, Chiairperson, Sarpanch)
' 7
(B) State whether the following statements are True or False:(any seven):-
(1) Urban society is heterogeneous in nature.
(2) India has no official religion.
(3)  Split personality is a type of psychosis mental disorder.
(4) Polio is caused by a virus called poliovirus.
{5) Caste system promotes social progress and modernization.
(6) Regionalism can cause inter-state tension and confrontation.
(7) Economic justice stands for removal of poverty.
(8) The Constitution of India is rigid |
(9) Municipal council is also known as Nagar Parishad.
(10) The Mayor is elected for a term of five years.
[ TURN OVER
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2 What steps should be taken to prevent violence against women in India. 15
OR
2 Explain the services available to handicap persons in India. 15
3 What are the measures to resolve lingustic conflicts in India. 15
OR
3. Explain the economic ineqalities generated due to caste system in India. 15
4, ‘Describe the nature of Indian State as "Sovereign", "Secular" and "Socialist". 15
OR
4, Explain the concept of fundamental duties and their classifications. 15
5 Explain the concept of Panchayati Raj in India. 15
OR
5. Write short notes on(any three):- 15
(@  Multi-cultural society
(b)  Cerebral Palsy
(¢) Regional and Communal Parties.
(d) Parliamentary System
(¢)  Corruption in Politics.
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Q.P. Code : 760001

Ly
(3 Hours) [ Total Marks : 100 \.‘j?) ;
"
N.B.: (1) All questions are compulsory. o
(2) Figures to the right indicate full marks. m\:ﬁb‘
\\
1. (a) Fill in the blanks with the appropriate option given in the bracket (Any ZE)'é‘ﬁ): 10
¥ concept of business is concerned with customer sati%‘a%tion.
(a) Modern (b) Traditional (c) Producty,
2 -refers to reduction of Government control ozgeof business
sector. Q\
(a) Liberalization (b) Privatization (©) §balization
3 is the most important economic objective of business unit.
(a) Service (b) Profit (c) Ck@?ging the right price
4, environment includes policies of&he Government.
(a) sociographic (b) demographic \Q\“ (c) economic
5. Environmental factors are 80
(a) stable (b) dynamic \f\(,:’ (c) isolated
6. Decision on location is an impor\tg?lt element of .
(a) setting up a business unit ~ (b) market research

(c) manufacturing process ¢S\
7. Analysis of competitorQ%\trategies is an element of
environment analysis. 1
(a) internal gb) external (c) international
8. act as qub\ference guide during the execution of the project.
(a) feasibility report (b) legal report (¢) project report
9. implements the plans and ideas of an entrepreneur.
(a) mana (b) internal entrepreneur (c) promoter
10. O agreement is concerned with liberalisation of International
inves@&‘ént.
(a)-¥YRIMs (b) TRIPs (c) Agreement of Agriculture
5 3 L <V : is an entrepreneur within an existing organisation.
\\(@a) intrapreneur (b) manager (c) leader

N

b(1\2. scheme is specially meant for women entrepreneurs.

: g‘,’\ (a DBK (b) MDA (c) TREAD
=
28

A
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2 &
(b) State whether the following statements are True or False (Any Ten) : &g}\o :
1. Business broadly involves industry and commerce. \q)\
Business is a social activity. N
Creating wealth is an economic objective of business. ‘ a
Turnaround strategy is applied to loss making unit. ,§3
Environmental factors do not affect business activities. N
Cultural environment does not influence demand fo%g%ods and
services. <.\'>\.
India is a member of ASEAN. X
Project report is a base for feasibility study. >
9. TAN is mandatory for Opening Bank account, filling of income tax,
returns and various other financial transacti,gg ’
10. Entreprenrship is a social activity. =
11. Mahila Vikas Nidhi provides women with development.
12. National Small Industries Corporatj 1 (NSIC) has been working to
promote the growth of small scale i\gﬁustn’es and industry related small
scale services in the country. \\\

8 W gk L b

00 =

™
2. (a) What do you mean by businesgg%xplain its functions. 8
(b) Explain briefly economic objé%tives of business. 7
S” OR
2. (a) Discuss the impact of yBalization on business and the economy. 8
(b) What is Tumaround?\sﬁxplain the steps in turnaround strategy. 7
3. (a) Explain the cor%bnents of external environment. 8
(b) State the imp;{l;‘}: nce of analyzing business environment. 7
o' OR
3. (&) What ig \%V\TO? Explain its implications on developing nations. 8
(b) Descr;}\lgg\the relationship between business and various types of environment. 7
®
4. (a) E\xgiain the steps involved in business planning process. 8
(bzp\VWhat is project report? Explain its importance. 7
&
&=

-\
A
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6.

3
OR
(@) Discuss the concept and importance of project planning.
(b) What are the factors influencing location of business unit? , -
(@) Discuss the importance of entrepreneurship in economic and q@mal
development. 2
(b) Discuss the competenmes or qualities of an effective entrepreptur.
OR \(3
(@) Distinguish between manager and entrepreneur. Q\)
(b) What are the problems faced by women entrepreneur }@:Tndla?
(@) Explain the importance of business. o\‘&
(b) Explain entrepreneurship training and developm%mt centers in India.
OR \
Write short notes on (Any Four) : Q\\O
(@) Modern concept of business Co\q’
(b) Feasibility report %
(¢) Educational environment V\
(d) NAFTA ‘0

Q.P. Code : 760001

(e) Social objectives of busl(iess
(® Restructuring strategies™
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QP CODE : 760801
Max. Marks: 100 Maths & stods—T Time: 3 Hrs. (03 F“a‘u)

N.B. 1. All questions are compulsory
2. Figures to the right indicate marks allotted
3. Graph papers will be provided on request
4. Use of simple non-programmable calculator is allowed

SECTION-I

Q.1 Attempt any 4 from the following:

a) Find the face value of a share if an investment of Rs. 9,00,000 put in to purchase
8% shares quoted at Rs. 15 each, earned a total dividend of Rs. 9600. 5)

b)  Mr. Chopra bought 400 éhares of par value Rs. 10 each at the market price of Rs. 24
each. If the annual dividend distributed was at the rate of 12%, find Mr. Chopra’s
total dividend and rate of return on investment. o)

¢)  Ram invested Rs 18,000 in a mutual fund scheme with entry load ¢f 2.25% at
NAV Rs 110. How many units did he purchase? The current NAV is Rs 130.
Find the current value of his investment. o)

d) Katrina invested Rs. 15,000 on 5th of every month for 5 months in a SIP of a
mutual fund. The N.A.V s on these dates were Rs. 42.26, Rs. 40.25, Rs. 49.57,
Rs. 51.45 and Rs, 39.32 respectively. There was same entry load of 2.3% for all these
months. Find the average acquisition cost per unit. ’ 5)

€)  Mr. Bhavesh invested Rs. 50000/- in the purchase of Mutual fund units at NAV
Rs. 16.50/-, Calculate the number of units purchased when the entry load of 1.2% was
applied. How many more units he could have purchased if the scheme was load free? 5)

Q.2 Attempt any 4 from the following:

a)  In how many different ways can the letters of the word 'LEADING' be arranged such
that the vowels should always come together? *)

b) A committee of 5 persons is to be formed from 6 doctors and 5 nurses .Find the total
number of ways if commiitee consist of 1) All doctors. ii) 3 doctors and 2 nurses. (5)

¢)  Solve the following L.P.P. by graphical method.
Maximize Z = 4x -+ 5y
Subject to, 2x + 3y < 12;
Xy Ehx209y20 o)

d)  Solve the following L.P.P. Graphically: (5)
Minimize Z = 9x + 10y,
subject to, x + 2y > 30,
3x+y=>30,x>0, y>0
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e) A printing company prints two types of magazines A and B. The company earns
Rs. 25 and Rs. 35 on each copy of magazines A and B respectively. The magazines are
processed on three machines. Magazine A requires 2 hours on machine I, 4 hours
on machine II and 2 hours on machine III. Magazine B requires 3 hours on machine I,
5 hours on machine II and 3 hours on machine III. Machines I, II, and III are available
for 35, 50, and 70 hours per week respectively. Formulate the L.P.P. so as to maximize
the total profit of the company. 5)
: SECTION-II
Q.3 Attempt any 4 from the following:
a)  Explain the measure of\‘c‘:entral tendency. State the requisites of good average. Q)
b) Draw a less than cumulative frequency curve for the following data and locate
median and two quartiles graphically. (5)
Daily Wages 0-100 | 100-200 | 200-300 | 300-400 | 400-500 | 500-600
No. of workers 10 30 45 60 35 20
¢) Find mean and mode from the following data . - (5)
Age in years 0-20 20-40 40-60 60-8¢C 80-100
No. of persons 4 5 15 11 5
d) Find coefficient of variation from the following data. ®)
Age in years 10-20 | 20-30 | 30-40 | 40-50 | 50-60
No. of mobile users 8 12 20 14 10
e)  The following data gives the distribution of weights of boys and girls in the class.
Find, combine arithmetic mean and decide which group is more consistent. (5)
Boys Girls
Number 85 65
Mean weight 58 kas 44 kgs
S.D 3 kgs 2 kgs
Q.4 Attempt any 4 from the following:
a) Define the following terms with examples:
(i) Sample space (ii) Mutually exclusive events. 5)
b) Given P(A)=0.5, P(B) = 0.4 & P(A/B) = 0.25
Find, (i) P{B) (ii) PCANB) (iii) P(AUB) Q)
c¢) A box contains 4 blue , 3 red and 2 black balls. If two balls are selected at random
froru the box, what is the probability that one is blue and one is red ball? 5)
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d)

Q.5

b)

d)

3 : QP CODE : 760801

A problem on Mathematics is given to 2 students A and B who attempt it independently.

Their chances of solving the problem are 1/3 and 3/4 respectively. What is the probability that,

(i) the problem is solved? (ii) it is solved by only one?

Following is the probability distribution of number of smart phones sold in a
shop per day.

5)

Number 0 1 2 3 4 5

Probability K 0.3 0.15 0.15 0.1 2k
Find the value of k and E(X).

Attempt any 4 from the following:

Write a note on Decision Tree.

Given the following pay off table, find optimal decision using
(i) Laplace criterion (ii) Maximax criterion (iii) Maximin criterion

Course of Action States of Nature
S1 S2 S3
Al 65 45 30

A2 75 25 105

A3 90 70 i

A physician purchases a particular vaccine on Monday of each week. The vaccine
must be used within the week following, otherwise it becomes worthless.

The vaccine cost Rs. 20 per dose and the physician charges Rs. 50 per dose. In the past
50 weeks, the physician has administered the vaccine in the following quantities.
Doses per week | 20 30 45

No. of weeks 5 25 20

(i) Construct pay-off table (ii) Determviue the optimum number of doses
the physician should buy using EMV criterion.

For the following pay-off table, s¢lect best decision using EOL criterion.

State of nature Acts Probability
Aq Az A3
Si 86 40 100 | 0.3
Sz 50 0 ~20 102
S3 110 |50 70 0.5

Draw a decision tree for the decision problem below and suggest the optimal choice.
(Use EMV criteria)

Product option Market demand

‘ Poor | Average Good
P 100 350 100
Q 150 250 150

Probability 0.3 0.55 0.15

)

5

&)
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